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Y=245 (dx=1.7e-02, do=-2.0e-02)

f=1305, X=4015.2

Y=491 (dx=2.4e-02, do=-1.6e-02)

= (x=4014.14, 0=1.12)
—_ Residual*5
= Trace

pfsArm pfsArm
| = x=4014.13,0=1.14) 1 = (x=4011.91, 0=1.14)
1 calExp 1 calExp

= (x=4011.93, 0=1.13)
m— Residual*s
== Trace

i Trace

1 1
Y=1228 (dx=1.3e-02, do=-1.9e-02) Y=1473 (dx=4.2e-02, do=4.5e-03)
I pfsArm I fsArm
1 = (x=4008.64, 0=1.15) | ™ (x=4008.47, 0=1.16)
I = (C;LE:OPUB.ES, 0=1.13) = I — (C:LE:OPUB‘SI, 0=1.16)
w— Residual*s e Residual*s

w— Trace

e Residual*5
w— Trace

1
Y=2210 (dx=-1.1e-02, do=2.0e-03) Y=2456 (dx=-3.6e-02, do=4.5e-03)
I pfsArm I pfsArm
| ™ (x=4010.36, 0=1.18) i 1 = (x=4011.76, 0=1.18)
I — ((:LE:(')JIO.BS, 0=1.18) 1 e ((:LE:gu 72, 0=1.19)

e Residual*5
= Trace

e Residual*5
| Trace

1 1
Y=3193 (dx=4.3e-02, do=-1.9e-02) Y=3439 (dx=3.9e-01, do=1.3e-01)
T pfsArm pfsArm T
| = (x=401825, 0=121) = (x=4021.33, 0=1.20)
1 = (CEI:E:&B.:;D, 0=1.19) r— lch:E:(?ZIJZ, 0=1.33)

e Residual*5
| == Trace

h

1

1
-

1

4010 4020 4030

4010 4020 4030

Y=736 (dx=-2.7e-02, do=-1.4e-02)

T pfsArm
| ™ (x=401028, 0=1.15)
1 calExp

= (x=4010.26, 0=1.13)
— Residual*s
== Trace

1
Y=1719 (dx=-1.3e-02, do=1.6e-03)
I pfsArm
1 = (x=4008.74, 0=1.16)
-1 | — (cfljoposja, 0=1.16)

e Residual*5
= Trace

Y=982 (dx=-9.5e-02, do=6.1e-03)

pfsArm
| ™ (x=400922, 0=1.14)

1 calExp
= (x=4009.13, 0=1.15)

e Residual*5
== Trace

. — = ————

Y=1965 (dx=-1.6e-02, do=1.3e-02)

pfsArm
| ™ (x=4009.36,0=1.17)
calExp
= (x=4009.34, 0=1.19)
e Residual*5
= Trace

e Residual*s
== Trace

Y=3684 (dx=1.9e-01, do=-4.0e-04)

pfsArm
| ™ (x=4024.96, 0=121)

I calExp

— (x=4025.14, 0=1.21)
e Residual*s
= Trace

4010 4020 4030 4040

1 1
Y=2702 (dx=-1.3e-02, do=-1.0e-02) Y=2947 (dx=6.3e-02, do=1.3e-03)
I pfsArm I pfsArm
1 | ™ (x=4013.49,0=1.19) 1 == (x=4015.68, 0=1.20)
| — (c:f:gu.n, 0=1.18) 1 [ (?3515.75, 0=1.20)

e Residual*5
. == Trace

Y=3930 (dx=2.4e-01, do=2.4e-02)

pfsArm
| ™ (x=4029.16, 0=121)

calExp
= (x=4029.40, 0=1.23)
- m—Residual*5
- Trace

4020 4030 4040
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Y=245 (dx=5.5e-02, do=-2.5e-02)

f=1311, X=3977.8

Y=491 (dx=7.0e-02, do=-2.9e-02)

Y=736 (dx=2.5e-02, do=-2.0e-02)

Y=982 (dx=-1.2e-02, do=-7.8e-03)

pfsArm
1 = (x=3976.51, 0=1.15)

calExp
= (x=3976.57, 0=1.13)

e Residual*s
= Trace

T
1

T pfsArm
| ™ (x=3974.34,0=115)

1 calExp
= (x=3974.41, 0=1.12)

e Residual*5
== Trace

A

T pfsArm
| ™ (x=3972.83,0=116)
1 calExp

= (x=3972.85, 0=1.14)
m— Residual*s

== Trace

T pfsArm
| ™ (x=3971.80 0=114)
1 calExp

- (x=397179, 0=1.14)
m— Residual*5
== Trace

Y=1228 (dx=5.4e-02, do=1.2e-02)

Y=1473 (dx=1.6e-02, do=-7.4e-04)

Y=1719 (dx=6.8e-02, do=1.6e-02)

Y=1965 (dx=1.3e-02, do=1.5e-03)

I pfsArm
| ™ (x=397124,0=115)

1 calExp
= (x=3971.30, 0=1.17)
= Residual*5
= Trace

pfsArm
= (x=3971.14, 0=1.16)
calExp
- (x=3971.16, 0=1.16)
= Residual*5
= Trace

I pfsArm
| ™ (x=3971.41,0=117)
1 calExp
= (x=3971.47, 0=1.18)
= Residual*5
= Trace

I pfsArm
| ™ (x=3972.07,0=1.18)
1 calExp

= (x=3972.08, 0=1.19)
I e Residual*5

= Trace

Y=2702 (dx=8.0e-02, do=9.8e-03)

Y=2947 (dx=6.0e-02, do=-1.9e-02)

1 1

Y=2210 (dx=9.0e-02, do=1.8e-02) Y=2456 (dx=9.4e-02, do=1.9e-02)
I pfsArm I pfsArm
| = (x=3973.07, 0=1.19) | ™ (x=3974.42,0=1.19)
: — ((:LE;QP73.16, 0=1.20) ] I — ((:LE;QpM 51, 0=1.21)

e Residual*5
w— Trace

e Residual*5
= Trace

pfsArm
| ™ (x=3976.16,0=120)
I calEx|

(x=3976.24, 0=1.21)
e Residual*s
= Trace

I pfsArm
| =™ (x=3978.28,0=121)

I calEx|
m—(x=3978.34, 0=1.19)
e Residual*5
== Trace

Y=3193 (dx=5.6e-02, do=6.9e-03)

Y=3439 (dx=1.4e-01, do=3.2e-03)

pfsArm
| = (x=3980.85, 0=121)

| calExp

(x=3980.90, 0=1.22)
e Residual*5
| Trace

pfsArm
| = (x=3983.87,0=121)

calExp
= (x=3984.01, 0=121)
= Residual*5
- - Trace

1
Y=3684 (dx=2.2e-01, do=-4.9e-03)
T pfsArm
| ™ (x=3987.38,0=121)
| calExp
(x=3987.61, 0=1.20)

e Residual*s
= Trace

1
Y=3930 (dx=2.9e-01, do=4.8e-02)
T pfsArm
1 m—(x=3991.56, 0=1.22)
| calExp
(x=3991.86, 0=1.27)

e Residual*5
== Trace
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Y=245 (dx=8.6e-02, do=-3.2e-02)

f=1314, X=3959.0

Y=491 (dx=3.0e-02, do=-1.5e-02)

Y=736 (dx=3.5e-02, do=-3.2e-02)

Y=982 (dx=4.3e-02, do=-1.4e-02)

T pfsArm
1 = (x=3957.67, 0=1.16)

1 calExp
= (x=3957.76, 0=1.13)

e Residual*s
= Trace

T pfsArm
1 1 = (x=3955.57, 0=1.15)
1 calExp

= (x=3955.60, 0=1.14)

e Residual*5
== Trace

pfsArm
| ™ (x=3954.05 0=117)
1 calExp
= (x=3954.08, 0=1.14)
| Resiquars

== Trace

pfsArm
= (x=3953.05, 0=1.16)

T
|
1 calExp
1

= (x=3953.10, 0=1.14)

e Residual*5
== Trace

1
Y=1719 (dx=7.8e-02, do=1.5e-02)

Y=1965 (dx=6.3e-02, do=7.2e-03)

1 1
Y=1228 (dx=2.2e-02, do=1.7e-03) Y=1473 (dx=1.8e-02, do=2.3e-03)
I pfsArm -1 I fsArm
1 = (x=3952.55, 0=1.16) | ™ (x=3952.41,0=118)
I = ((;LEBXSSZ,SS, 0=1.16) I — (C:I=E3x9p.’12‘43, 0=1.19)
w— Residual*s e Residual*s

i Trace

w— Trace

pfsArm
1 = (x=3952.73, 0=1.17)

calExp
= (x=3952.81, 0=1.19)
= Residual*5

== Trace

pfsArm
| ™ (x=3953.35,0=121)
1 calExp
= (x=3953.41, 0=1.22)
e Residual*5
= Trace

Y=2947 (dx=1.0e-01, do=-2.2e-02)

1 1
Y=2210 (dx=6.6e-02, do=-4.9e-03) Y=2456 (dx=7.0e-02, do=3.7e-03)
I pfsArm I pfsArm
| ™ (x=3954.35,0=121) 1 = (x=3955.74, 0=1.19)
| — calxp 1 — calexp
(x=3954.41, 0=1.21) (x=3955.81, 0=1.19)

e Residual*5
w— Trace

e Residual*5
-1 = Trace

1
Y=2702 (dx=8.3e-02, do=2.1e-02)
I pfsArm
| = (x=3957.41,0=122)

calExp
(x=3957.49, 0=1.25)

e Residual*s

= Trace

I pfsArm
1 = (x=3959.57, 0=120)

calExp
m—(x=3959.67, 0=1.18)
e Residual*5

w=  Trace

Y=3193 (dx=1.1e-01, do=-1.4e-02)

Y=3439 (dx=9.5e-02, do=-2.0e-02)

Y=3684 (dx=1.8e-01, do=1.2e-02)

Y=3930 (dx=2.2e-01, do=>5.6e-02)

pfsArm
| = (x=3962.08, 0=121)

| calExp

(x=3962.19, 0=1.20)
e Residual*5
| Trace

T pfsArm
| ™ (x=3965.07,0=121)
| calExp

= (x=3965.17, 0=1.19)
I = Residual*5
- Trace

pfsArm
1 = (x=3968.60, 0=121)

calExp
= (x=3968.78, 0=1.22)
e Residual*s
= Trace

T pfsArm
1 = (x=3972.70, 0=1.21)
| calExp

- (x=3972.92, 0=127)

e Residual*5
== Trace
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Y=245 (dx=9.2e-02, do=-7.0e-02)

f=1322, X=3908.5

Y=491 (dx=9.2e-02, do=-1.3e-01)

T pfsArm
| ™ (x=3906.96, 0=1.57)

calExp
= (x=3907.05, 0=1.50)

e Residual*s
= Trace

calExp
- (x= 3905 08, 0=1.42)

e Residual*5

I

Y=736 (dx=4.3e-03, do=-5.6e-02)

pfsArm
1 = (x=3903.83, 0=1.36)

calExp
- (x= 3903 83, 0=1.31)

e Residual*5

Y=982 (dx=-5.0e-03, do=-7.1e-02)

Y=1719 (dx=-9.6e-02, do=3.7e-02)

pfsArm
1 = (x=3902.83, 0=1.42)

calExp
- x= 3902 83, 0=1.35)

e Residual*5

J'L_

T fSArT

pfsArm
| ™ (x=3901.90,0=1.71)

calExp
= (x=3901.90, 0=1.69)
= Residual*5

= Trace

pfsArm
| ™ (x=3901.90, 0=1.68)

calExp
= (x=3901.92, 0=1.69)
= Residual*5

| I ngrgn:m 98, 0=1.55)
Y=2456 (dx=-6.0e-02, do=8.4e-02)

I pfsArm
| ™ (x=3901.62, 0=1.96)
1 calExp

= (x=3901.53, 0=2.00)
I — Residuars
= Trace

pfsArm
= (x=3903.83, 0=171)

calExp
(x=3903.80, 0=1.75)

e Residual*5

w— Trace

pfsArm
= (x=3904.57, 0=1.98)

calExp
(x=3904.51, 0=2.06)

e Residual*5

= Trace

pfsArm
| ™ (x=3903.01, 0=1.60)

| : 1
calExp
= (x=3903.00, 0=1.63)
e Residual*5
== Trace
1

Y=3439 (dx=-3.3e-02, do=5.2e-02)

pfsArm
| ™ (x=3906.79, 0=1.74)

calExp
= (x=3906.76, 0=1.78)

e Residual*s

pfsArm
1 = (x=3911.81, 0=1.44)
| calExp
= (x=3911.86, 0=1.41)
= Residual*5
- Trace

“COT
1

pfsArm
= (x=3913.51, 0=2.05)

calExp
= (x=3913.48, 0=2.10)
= Residual*5
- Trace

I pfsArm
1 m—(x=3908.82, 0=1.75)
calExp
m— (x=3908.81, 0=1.80)
e Residual*5
== Trace

pfsArm
| ™ (x=3917.87, 0=1.61)

calExp
= (x=3917.78, 0=1.70)
e Residual*s
= Trace

3900

5 .
3910 3920

3900 3910

1
1

Y=3930 (dx=-1.3e-01, do=1.3e-01)

== Trace

T pfsArm
| = (x=3921.92,0=157)
| calExp
- (= 3921 78, 0=1.70)
m—Residual*s

3920 3930

3910 3920 3930

3910 3920 3930
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Y=245 (dx=1.7e-02, do=-2.8e-02)

f=1323, X=3902.3

Y=491 (dx=2.2e-03, do=-2.7e-02)

Y=736 (dx=2.1e-02, do=-3.3e-02)

T pfsArm
1 = (x=3901.11, 0=1.15)

- 1 calExp
= (x=3901.13, 0=1.12)

w— Residual*5
= Trace

T pfsArm
1 = (x=3899.12, 0=1.15)

1 calExp
= (x=3899.13, 0=1.12)

m— Residual*5
== Trace

T pfsArm
| =™ (x=3897.68, 0=1.15)

1 calExp
= (x=3897.70, 0=1.12)

m—— Residual*5
== Trace

Y=1228 (dx=2.5e-02, do=-9.8e-03)

Y=1473 (dx=4.7e-02, do=-7.0e-03)

Y=1719 (dx=5.8e-02, do=6.9e-03)

pfsArm
| ™ x=3896.32,0=116)

1 calExp
= (x=3896.34, 0=1.15)

w—— Residual*5

= Trace

pfsArm
| ™ (x=389627,0=116)
1 calExp
— (x=3896.32, 0=1.16)
m— Residual*5
= Trace

I pfsArm
| ™ (x=3896.57,0=117)
1 calExp

= (x=3896.63, 0=1.18)

m——Residual*5
= Trace

1
Y=2210 (dx=4.8e-02, do=7.0e-03) Y=2456 (dx=7.2e-02, do=4.9e-03)
T pfsArm I pfsArm
| =™ (x=389824,0=119) | = (x=3899.56, 0=1.19)
I [r— ((;LEBXSPQB.ZQ, 0=1.20) I — ((:I=E3)(8;199 63, 0=1.20)

m—— Residual*5

m— Residual*5
= Trace

1

Y=2702 (dx=5.8e-02, do=-7.0e-03)
| f:igg'rél.zs, 0=1.20)
I r— (c:f;;m.n, 0=1.19)

m——Residual*5
== Trace

Y=982 (dx=2.6e-02, do=-1.6e-02)

T pfsArm
| ™ (x=3896.76, 0=1.15)

- 1 calExp
= (x=3896.79, 0=1.13)

= Residual*5
== Trace

Y=1965 (dx=6.5e-02, do=-2.8e-03)

pfsArm
- 1 = (x=3897.25, 0=1.19)
1 calExp
= (x=3897.31, 0=1.18)
m—Residual*5
= Trace

Y=2947 (dx=5.8e-02, do=2.4e-03)

pfsArm
| ™ (x=3903.30,0=120)
1 calExp
m— (x=3903.36, 0=1.21)
N m— Residual*5
== Trace

Y=3684 (dx=1.1e-01, do=-1.7e-03)

e Residual*5
| Trace

1
Y=3193 (dx=5.9e-02, do=-1.5€-02) Y=3439 (dx=6.9e-02, do=-1.3e-02)
T pfsArm T pfsArm
| = (x=3905.74, 0=120) | = (x=3908.66, 0=120)
T I r— (CEI:E;QPDS.SO, 0=1.18) I — (c:I:EBXQPOB 73, 0=1.19)

m— Residual*5
= Trace

T pfsArm
1 = (x=3912.08, 0=121)
| calExp

= (x=3912.19, 0=121)

m— Residual*5
== Trace

Y=3930 (dx=1.6e-01, do=7.7e-03)

T pfsArm
1 = (x=3916.06, 0=121)
| calExp

- (x=3916.22, 0=1.22)

m— Residual*5
== Trace
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Y=245 (dx=-9.0e-02, do=-5.9e-02)

f=1324, X=3896.0

Y=491 (dx=-1.6e-02, do=-2.7e-02)

=]
- fsArm T

p!
= (x=3894.48, 0=2.16)

calExp
= (x=3894.39, 0=2.11)
— Residual*s
w | Trace

.

pfsArm

= (x=3892.44, 0=2.18)

calExp

= (x=3892.42, 0=2.15)
= Residual*5

== Trace

e

Y=1228 (dx 1.6e-01, do=-1. 8e-01)'

Y=1473 (dx=1. Te- 01, do=-1.8e- 01)

pfsArm
= (x=3890.83, 0=2.04)
calExp
= (x=3890.99, 0=1.86)
= Residual*5
= Trace

| aad] &

i

fsArm T
— (x=3590.97,u=2.07h 1
calExp 1
= (x=3891.14, 0=1.90)
= Residual*5. I
- Trace ]
- 1 -
-
- -

Y=2210 (dx=2.4e-01, do=-2.6e-01)

Y=2456 (dx= 29e|02 do=-1.4e- 01)

pfsArm
= (x=3893.10, 0=2.05)

calExp
(x=3893.35, 0=1.80)
e Residual*5

= Trace

! 1 | E
n pfsArm
= (x=389373, 0=2.15)
calExp
= (x=3893.76, 0=2.01)
= Residual*5
= Trace
N 1 .|_ 1. _|_ -

b e

Y=3193 (dx=1.5e-01, do=-3.3e-01)

Y= 3439 =3, 6e-02, d0|=-7.2e-02)

RN

pfsArm
m—(x=3899.51, 0=2.23)

T

|

1

I

I
calExp

I = (x=3899.66, 0=1.90)

= Residual*5
= Trace

Tt

pfsArm
— (x=3902.64, 0=2.17)

calExp
= (x=3902.68, 0=2.10)

e Residual*5
= Trace
I I—
-
-
- -I Sl el e L
T T

3890 3900 3910

3890 3900 3910

Y=736 (dx=2.4e-01, do=-2.1e-01)

pfsArm T

= (x=3891.46, 0=1.74)
calExp

— (x 3391 70, 0=1.53)

7| = Residual*5

Y=1719 (dx=1. 3e- 01, do=-1.3e- 01)

— (x 3890 68, 0=2.13)

— calExp
= (x=3890.81, 0=2.00)

e Residual*s

= Trace

___t_l_-

Y=2702 (dx=3.1e-02, do=-1.6e-01)

pfsArm I
= (x=3896.07, 0=2.03) 1
T calExp 1
- (x=3896.10, 0=1.87)

= Residual*5 I
= Trace ]

! =

- - =T -
1

Y=3684 (dx=-1.5e-01, do=6.8e-02)

i pfsArm

* == (x=3905.36, 0=2.23)

calExp
= (x=3905.22, 0=2.30)

N e
(-

3890 3900 3910 3920

Y=982 (dx=2.8e-01, do=-1.8e-01)
u

pfsArm T
= (x=3890.49, 0=2.26)

calExp
_(x= 3890 76, 0=2.08)

e Residual*5
| = Trace

fsArm T

p
= (x=389129, 0=1.58) 1

&

calExp
— (x=3891.21, 0=1.53)
=] == Residual*5

= Trace

Y=2947 (dx=1.5e-01, do=-1.1e-01)

I pfsArm
T 1 = (x=3897.53, 0=1.78)

calExp
= (x=3897.68, 0=1.67)

e Residual*5

"LT{ L
111 T I

Y=3930 (dx=-4.0e-01, do=1.4e-01)

] L T pfsArm
I |™ (x=3909.46, 0=1.95)

calExp
= (x=3909.06, 0=2.09)

u
. . m—Residual*s
== Trace
-
e
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Y=245 (dx=9.8e-03, do=-3.0e-02)

f=1343, X=3777.5

Y=491 (dx=3.0e-02, do=-3.6e-02)

T pfsArm T pfsArm
| = (x=3775.82,0=1.15) 1 = (x=3774.12, 0=1.16)
calExp 1 calExp

= (x=3775.83, 0=1.12)
— Residual*s
= Trace

= (x=3774.15, 0=1.12)
s Residual*s
== Trace

1
Y=1228 (dx=2.8e-02, do=1.0e-02)

Y=1473 (dx=5.9e-02, do=5.2e-03)

pfsArm
| ™ (x=3771.81,0=116)
1 calExp

— (x=3771.83, 0=1.17)
= Residual*5
= Trace

pfsArm
| ™ (x=3771.850=116)
1 calExp
= (x=3771.90, 0=1.17)
= Residual*5
= Trace

1 1
Y=2210 (dx=5.4e-02, do=7.6e-03) Y=2456 (dx=6.4e-02, do=-9.5e-04)
pfsArm I I pfsArm
= (x=3773.89, 0=1.18) 1 1 = (x=3775.21, 0=1.20)
calEx 1 calExp

(x=3773.94, 0=1.19)
= Residual*5
w— Trace

= (x=3775.27, 0=1.20)
== Residual*5
= Trace

1
Y=3439 (dx=7.7e-02, do=-2.0e-02)

T T T
Y=3193 (dx=4.5e-02, do=-1.2e-02)
T pfsArm T pfsArm
1 = (x=3781.06, 0=121) | = (x=378375,0=121)
| calExp | calExp
= (x=3781.10, 0=1.20) = (x=3783.82, 0=1.19)

e Residual*5
| Trace

e Residual*5
= Trace
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3770 3780 3790

Y=736 (dx=1.9e-02, do=-1.4e-02)

Y=982 (dx=2.9e-02, do=-2.1e-02)

T pfsArm
| = (x=3772.88,0=1.15)

1 calExp
= (x=3772.90, 0=1.14)

= Residual*5
== Trace

T pfsArm
1 = (x=3772.17, 0=1.16)
1 calExp
- (x=3772.19, 0=1.13)
m—_Residual*5
== Trace

Y=1719 (dx=6.4e-02, do=-1.9e-02)

Y=1965 (dx=3.1e-02, do=2.3e-02)

pfsArm
1 = (x=377225, 0=1.18)
1 calExp
— (x=3772.32, 0=1.16)
= Residual*5
= Trace

pfsArm
| ™ (x=3772.90, 0=1.18)

1 calExp
— (x=3772.93, 0=1.21)
e Residual*5
== Trace

Y=2702 (dx=5.7e-02, do=3.6e-05)

1

Y=2947 (dx=7.2e-02, do=-1.1e-02)
I pfsArm
| ™ x=3778.69, 0=123)
1 calExp

= (x=3778.76, 0=1.22)
e Residual*5
= Trace

Y=3930 (dx=4.4e-02, do=-2.7¢-02)

pfsArm
| = (x=3776.78, 0=1.20)
1 1 calExp
m—(x=3776.83, 0=1.20)
= Residual*5
= Trace
- 1
1
H - —
T T L T T
Y=3684 (dx=4.5e-02, do=-8.9e-03)
T pfsArm
| = (x=3786.91, 0=120)

calExp
= (x=3786.95, 0=1.19)
= Residual*5

== Trace

pfsArm
| = (x=3790.59, 0=127)

calExp
= (x=3790.63, 0=124)
m—Residual*s
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Y=245 (dx=2.3e-02, do=-7.4e-02)

f=1405, X=3392.8

Y=491 (dx=-6.4e-02, do=-2.3e-01)

| T
- fsArm

p
= (x=3386.93, 0=1.68)

calExp
= (x=3386.95, 0=1.60)
= Residual*5

= Trace

(it

pfsArm

= (x=3386.03, 0=1.73)
calExp

- (x= 3385 96, 0=1.51)

1
1
I e Residual*5
1
1
1

== Trace

Y=1228(dx=-1.2e-01, do=-1.5e-01)

I pfsArm - fsArm I
| = (x=3384.63,0=1.40) - 1x:3386.73, 0=2.12) 1
calExp calExp
I — (x=3384.51, 0=1.25) = (x=3386.32, 0=1.80) 1
I e Residual*5 | === Residual*5 I
I = Tace - Trace 1
| |
| 1 |
1 1
- -— - - - - - -
~ '==i |I:H'-FI 1 T
1 1

Y=2210 (dx=-2.7e-01, do=-2.8€-01)

Y=2456 (dx=-2.2e-01, do=-2.8e-01)

pfsArm T T pfsArm
= (x=3387.99, 0=175) 1 | = (x=338873,0=153)
calExp 1 1 calExp
m—(x=3387.72, 0=1.47) m—(x=3388.51, 0=1.24)
w— Residual*s I . I e Residual*5
- Trace ] I = Tace
| |
| |
1 1
- R - - -
n 1 1

Y=3193 (dx=-1.8e-01, do=-1.9e-01)

Y=3439 (dx=-1.7e-01, do=-2.2e-01)

[

pfsArm
| = (x=3393.99, 0=1.74)

calExp
= (x=3393.81, 0=1.55)
m— Residualts
= Trace

pfsArm
= (x=3395.93, 0=1.67)

calExp

(x=3395.76, 0=1.45)
e Residual*5
= Trace
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Y=736 (dx=-4.3e-01, do=-4.5e-01)

pfsArm
| = (x=3387.01, 0=2.19)

calExp
= (x=3386.58, 0=1.74)
m— Residual*s

== Trace

4

Y=1719 (dx=-2.2e-01, do=-2.2e-01)

pfsArm
— (x 3385.90, 0=1.65)

— (x:saas‘ea, 0=1.43)
= Residual*5
== Trace

pfsArm
= (x=3391.87, 0=2.13)

calExp
m—(x=3391.52, 0=1.87)

e Residual*5

Y=2702 (dx=-3.6e-01, do=-2.6e-01)
=] == Trace

e

Y=3684 (dx=-3.8e-01, do=-3.0e-01)

pfsArm
= (x=3399.58, 0=2.02)

calExp
= (x=3399.20, 0=1.72)
= Residual*5
= Trace

=] === Residual*5

] = T
1

3390 3400 3410

Y=982 (dx=-1.4e-01, do=-1.7e-01)

pfsArm

= (x=3384.75, 0=1.52)
calExp

- x= 3384 60, 0=1.35)

e Residual*5

|
I
I
l w Trace
|
|
1

Y=1965 (dx=-2.5e-01, do=-2.7e-01)

pfsArm
= (x=3386.94, 0=171)
calExp
= (x=3386.69, 0=1.44)
e Residual*5
= Trace

1
Y=2947 (dx=-2.1e-01, do=-3.0e-01)

pfsArm
= (x=3391.85, 0=1.62)

calExp
m—(x=3391.64, 0=1.32)
e Residual*5

== Trace

pfsArm
= (x=3402.65, 0=2.08)

calExp
m—(x=3402.09, 0=1.63)

== Trace
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Y=245 (dx=-2.7e-02, do=-2.4e-02)

f=1406, X=3386.7

Y=491 (dx=-1.0e-02, do=-3.5e-02)

T pfsArm
| ™ (x=338351,0=1.14)

1 calExp
= (x=3383.48, 0=1.12)

w— Residual*5
= Trace

T pfsArm
| ™ (x=3382.53,0=114)

1 calExp
= (x=3382.52, 0=1.11)

m— Residual*5
== Trace

1
Y=1228 (dx=1.3e-02, do=-4.6e-03) Y=1473 (dx=2.1e-02, do=1.2e-02)
I fsArm I pfsArm
| ™ (x=338175,0=1.15) 1 = (x=3382.10, 0=1.16)
I = (C;LEBXBPSIJG, 0=1.14) I — (C:LE;;SZ‘IZ, 0=1.17)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

1 1
Y=2210 (dx=5.5e-02, do=9.3e-03) Y=2456 (dx=4.7e-02, do=6.9e-03)
pfsArm I pfsArm
| =™ x=3384.37,0=119) | ™ (x=3385.53,0=119)
I r— ((fgspsa.aa, 0=1.20) I r— ((:LEBX;SS 58, 0=1.20)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

1
Y=3193 (dx=4.8e-02, do=-4.5e-03) Y=3439 (dx=5.4e-02, do=-3.3e-03)
pfsArm T pfsArm
| = (x=3390.40, 0=1.19) | ™ (x=3392.58,0=1.19)
I r— (CEI:E;SQOAS, 0=1.19) I — (c:I:E;EpQZ.53, 0=1.19)

e Residual*5
| Trace

m— Residual*5
= Trace

3380 3390 3400

3380 3390 3400

Y=736 (dx=-7.8e-03, do=-1.9e-02)

Y=982 (dx=3.5e-03, do=-4.4e-03)

pfsArm pfsArm
| = (x=3381.92,0=1.14) | = (x=3381.69,0=1.14)
1 calExp 1 calExp
= (x=3381.91, 0=1.12) = (x=3381.70, 0=1.14)
m— Residual*s — Residual*s
7 = Trace = Trace
T T L T T T 1 T
Y=1719 (dx=2.5e-02, do=1.3e-02) Y=1965 (dx=4.6e-02, do=2.6e-03)
— T pfsArm pfsArm
| = (x=3382.64,0=117) 1 = (x=3383.41, 0=1.18)
1 calExp 1 calExp
= (x=3382.66, 0=1.18) = (x=3383.46, 0=1.19)

m——Residual*5
= Trace

m——Residual*5
= Trace

-— —

Y=2702 (dx=4.7e-02, do=1.6e-02)

pfsArm
| ™ (x=3386.88,0=1.18)
T 1 calExp
m—(x=3386.93, 0=1.20)
m—— Residual*5
= Trace

1

Y=2947 (dx=2.5e-02, do=9.1e-03)
I pfsArm
| ™ x=3388.51,0=119)
I r— (CELE;‘;PBS.SA,a:l 20)

m——Residual*5
== Trace

Y=3684 (dx=5.3e-02, do=-1.2e-02)

T pfsArm
1 = (x=3395.11, 0=1.19)

| calExp

= (x=3395.17, 0=1.18)
m— Residual*5

= Trace

1

Y=3930 (dx=5.9e-02, do=-1.0e-03)
T pfsArm
1 m—(x=3398.02, 0=1.19)
| — (Cxa‘:E;;gs.os, 0=1.19)

m— Residual*5
== Trace
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f=1407, X=3380.4

Y=245 (dx=-2.1e-01, do=-5.0e-02) Y=491 (dx=-2.3e-01, do=-3.7e-02) Y=736 (dx=2.3e-01, do=-4.4e-01) Y=982 (dx=-2.2e-01, do=3.0e-02)
pfsArm T I. pfsArm T pfsArm T pfsArm T L
= (x=3377.96, 0=1.70) 1 = (x=3377.02, 0=1.63) 1 = (x=3375.65, 0=1.91) = (x=3376.23, 0=1.41)
— calExp 1 o calExp 1 o calExp o calExp
(x=3377.76, 0=1.65) (x=3376.79, 0=1.59) (x=3375.87, 0=1.47) (x=3376.01, 0=1.44)
= e Residual*5 I e Residual*s I wm— Residual*s e Residual*5

== Trace

w— Trace = Trace - Trace

="l

T T T T T T T T T T T T T T T
Y=1228 (dx=-2.4e-01, do=-4.9e-02) Y=1473 (dx=1.6e-01, do=-1.7e-01) Y=1719 (dx=7.0e-02, do=-2.0e-01) Y=1965 (dx=1.5e-01, do=-2.6e-01)

pfsArm I u pfsArm I pfsArm .‘J pfsArm I

= (x=3376.10, 0=1.62) 1 = (x=3375.86, 0=1.72) = (x=3376.81, 0=1.72) = (x=3377.73, 0=1.90) 1
calExp 1 calExp calExp calExp 1

| ™ (x=3375.85, 0=1.57) = (x=3376.01, 0=1.55) = =™ (x=3376.88, 0=1.53) = (x=3377.89, 0=1.64)
= Residual*5 I = Residual*5 e Residual*5 7| == Residual*s I
w | Trace w | Trace == Trace == Trace

==~

3
=
rra

Y=2210 (dx=7.6e-02, do=-2.7e-01) Y=2456 (dx=2.3e-01, do=-3.4e-01) Y=2702 (dx=3.4e-01, do=-3.4e-01) Y=2947 (dx=3.1e-01, do=-2.4€-01)

pfsArm I
= (x=3380.66, 0=1.88) 1

calExp 1
(x=3381.00, 0=1.54)

e Residual*5

w— Trace

pfsArm

pfsArm
= (x=3378.74, 0=1.90)

pfsArm
= (x=3379.72, 0=1.92)

= (x=3382.70, 0=1.89)
calExp

= (x=3378.82, 0=1.63)

7| == Residual*s

= Trace

calEx
m—(x=3379.95, 0=1.58)
e Residual*5
w— Trace

calExp
m—(x=3383.01, 0=1.65)

il

-1 it

e Residual*5
- == Trace

SSe
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|

Y=3193 (dx=2.5e-01, do=-3.6e-01) Y=3439 (dx=3.5e-01, do=-3.4e-01) Y=3684 (dx=-6.8e-02, do=4.4e-02) Y=3930 (dx=1.9e-01, do=-2.4e-01)

J pfsArm pfsArm
T (x=3386.61, 0=1.81) = (x=3388.89, 0=1.64)

pfsArm
= (x=3384.78, 0=1.92)

pfsArm T
= (x=3391.95, 0=1.70) 1

calExp
— (x=3392.14, 0=1.46)
= Residual*5
= Trace

calExp
= (x=3388.83, 0=1.69)
e Residual*5
= Trace

calExp
= (x=3386.96, 0=1.47)
e Residual*5
| Trace

calExp
= (x=3385.03, 0=1.56)
= Residual*5
w— | Trace
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Y=245 (dx=-2.6e-01, do=4.9e-01)

f=1408, X=3374.2

Y=491 (dx=-7.5e-02, do=1.0e-01)

1

pfsArm
= (x=3370.72, 0=1.47)

calExp
- (x= 3370 47, 0=1.96)
m— Residual*s

= Trace

]

pfsArm

= (x=3370.36, 0=1.49)

calExp
= (x=3370.29, 0=1.60)
e Residual*5

W

Y=1473 (dx=-5.4e-

01, do=5. 1Oe- 01)

AR

pfsArm
= (x=3370.02, 0=1.66)

calExp

(x=3369.11, 0=1.98)
= Residual*5
w— Trace

_4__47L____

T

| ﬁ

- (x=3369.56, 0=1.33)

calExp
= (x=3369.02, 0=1.83)
e Residual*5

= Trace

10 (dx=-1.3e-01, do=2.0e-01)

Y=2456 (dx=-1.5e+00, do=9.1e-02)

Y=736 (dx=-1.1e+00, do=-3.7e-02)

e Residual*s
== Trace

pfsArm
(x=3370.35, 0=1.61)

calExp
= (x=3369.21, 0=1.57)

u

, do=-6.

pfsArm
= (x=3370.73, 0=1.61)

calExp
= (x=3370.01, 0=1.55)
e Residual*5

- Trace

I

Y=2702 (dx=-9.5e-01, do=-4.4e-02)

— LT - I pfsArm T
1 M 1 == (x=3375.44, 0=1.68) 1
1 1L 1 calExp 1
1 pu | = (x=3374.50, 0=1.63)
1 -1 1 pfsArm — Residual*s 1
{ T lx 3371 54, 0=1.63) 1 = (x=3374.30, 0=1.75) == Trace 1
Exp calExp
- 1 = lx:3371.40, 0=1.83) 1 = (x=3372.83, 0=1.85) . 1
T e Residual*5 T o | === Residual*5
™ == Trace r - )| = Tace 1
1 BEHY A | Iy A 40 I L] N i L I I I
| 1 T
T 1 T T T T T 1 T T
Y=3193 (dx=-3.5e-01, do=4.2e-01) Y=3439 (dx=-5.5e-01, do=-5.3e-01) Y=3684 (dx=3.1le-01, do=3.7e-01)
_ T pfsArm
== (x=3382.49, 0=1.36)
r calExp
- = (x=3382.80, 0=1.73)
pfsArm T pfsArm —Residual*s

P

= (x=3377.61, 0=1.53)

calExp

(x=3377.27, 0=1.95)
e Residual*5
== Trace

1T

== (x=3380.69, 0=1.66)

calExp
= (x=3380.13, 0=1.13)

= Residual*5
== Trace

-t

3370

3380 3390

3370

3380

3390

== Trace

3370

3380

3390

Y=982 (dx=8.3e-02, do=2.8e-01)

Z|_

calExp

wm_ Residual*s
== Trace

pfsArm
1 = (x=3369.26, 0=1.28)

= (x=3369.34, 0=1.55)

[

Y=1965 (dx=5. Oe-Ol do=2.8e- Ol)

fsA

e Residual*5

T (x 3370.69, 0=1.51)

calExp
= (x=3371.19, 0=1.79)

= Trace

I

I I
I

- f— — I — —— —
T
I T
Y=2947 (dx=-4.7e-01, do=1.1e-01)

;

pfsArm

e Residual*5
== Trace

il

T1- -

= (x=3377.04, 0=1.75)

calExp
- (x= 3376 57, 0=1.85)

Y=3930 (dx=-3.3e-01, do=5.5e-01)

e Residual*s
== Trace

pfsArm
= (x=3385.33, 0=1.43)

calExp
= (x=3385.00, 0=1.98)

3370

3380

3390
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f=1482, X=2917.0

Y=245 (dx=7.8e-01, do=-3.0e-02) Y=491 (dx=3.3e-01, do=3.0e-02) Y=736 (dx=6.0e-01, do=-2.0e-01) Y=982 (dx=7.2e-01, do=-1.2e-01)
I o | | ||| 'ﬂ | | | hIJ
= (x=2911.28, 0=1.75) |
_ calexp 1 [~
(x=2911.61, 0=1.78)
== Residual*5 I
- Trace 5 (x 2911 10, 0=1.79) I = (x 2911 40, 0=1.83)
e lx=2911470, 0=1.58) I} = (x=2912.12,0=1.71)
7| == Residual*s 7| == Residual*5
== Trace - == Trace
-_I- 1 L
HFH TR -
- 1

Y=1228 (dx=1.1e+00, do=-5.8e-02) Y=1473 (dx=5.6e-01, do=3.4e-02) Y=1719 (dx=-3.6e-02, do=-3.1e-01) Y=1965 (dx=7.2e-01, do=-2.5e-01)

I pfsArm
1 = (x=2913.38, 0=1.66)
calExp
. = (x=2913.35, 0=1.35) .

e Residual*5

pfsArm -
= (x=2911.41, 0=1.85)

calExp
_(x= 2912 19, 0=1.82)

e Residual*5

. fSArm
| — 02291128, 0=187)

calExp

= (x=2912.43, 0=1.81) -1
= Residual*5
== | Trace

pfsArm
= (x=2913.66, 0=1.90)
== Trace

calExp
- = (x=2914.38, 0=1.65)
— J' — PfSATM | = Residuar*s
(x=2912.50, 0=1.79) - Trace
calExp
= (x=2913.06, 0=1.82)
EE L - 7| == Residual*5 b ol | - o — - - - - - -— -
- Trace
T T T T T T T T
Y=2210 (dx=7.5e-01, do=-8.8e-02) Y=2456 (dx=1.0e-01, do=-3.6e-01) Y=2702 (dx= 7. 4e-01, do=-3.3e- 01 Y=2947 (dx=-4.2e-02, do=5.2e-03)
I pfsArm - I pfsArm
| = x=2915.31,0=1.91) 1 = (x=2919.39, 0=1.17)
T 1 1 1 calExp . 1 calExp
= (x=2915.41, 0=1.55) -1 = (x=2919.35, 0=1.17)
— PfSATM Ay 1L Residual*s 1 - m—Residual*s
(x=2914.47, 0=1.90) LN Ny L
calExp u
- = (x=2915.22, 0=1.81) =~ 7 T ] L 1 !
e Residual*5 n pfsArm L 1
- Trace - (x=2917.13, 0=1.73) i 1 |
calExp
m—(x=2917.87, 0=1.39)
o - - - — - - - - Hl=dmim b e o o - e
= Trace
T T T T T T T T — T T T T
Y=3193 (dx=1.4e-01, do=-2.3e-01) Y=3439 (dx=-4.4e-02, do=1.8e-01) Y=3684 (dx=-1.1e+00, do=nan) Y=3930 (dx=-3.3e+00, do=9.8e-02)
pfsArm T pfsArm pfsArm J T pfsArm
= (x=2920.42, 0=1.59) 1 I = (x=2922.62,0=1.08) | = (x=2924.89, 0=nan) I = x=2926.70, 0=0.98)
calExp calExp calExp - l calExp
= (x=2920.56, 0=1.36) — (x=2922.58, 0=1.27) = (x=2923.76, 0=1.82) = (x=2923.37, 0=1.08)
—| === Residual*5 == Residual*5 = Residual*5 J- -1 = Residual*5
= Trace - - Trace - Trace E a - Trace
1
- — — - — el e — - — — e - — - — — . — I —
1 fif i
: r 1
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Y=245 (dx=-3.3e-01, do=-2.8e-01)

f=1483, X=2910.9

Y=491 (dx=-1.5e-01, do=-2.7e-01)

pfsArm
= (x=2904.88, 0=2.06)

T

|

1 calExp
= (x=2904.55, 0=1.78)

I — Residual*s

|

1

= Trace

T pfsArm
1 == (x=2905.04, 0=2.15)
| calExp

_x= 2904 89, 0=1.88)
I m— Residual*s
|
|
|

== Trace

Y=1228 (dx=-1.6e-01, do=-1.6e-01)

pfsArm
= (x=2904.06, 0=1.76)
calExp
= (x=2903.90, 0=1.59)
= Residual*5
= Trace

a0 1

T T T
= = , =-1.2e-
T pfsArm
1 = (x=2905.81, 0=2.04)
- 1 calExp
= (x=2905.70, 0=1.92)
I = Residual*5
1 - Trace

Y=2210 (dx—-2 2e-01, 'do=-1.9e- 01)

Y=2456 (dx=-1.8e-01, do=-1.9e-01)

pfsArm
= (x=2907.00, 0=1.72)

calExp
= (x=2906.79, 0=1.53)
e Residual*5

w— Trace

i

pfsArm
= (x=2907.80, 0=1.59)

calExp
m—(x=2907.62, 0=1.40)
e Residual*5

= Trace

Al

Y=3193 (dx=-6.9e-02, do=-4.8e-02)

Y=3439 (dx=2.4e-01, do=1.5e-01)

)
Bl

Y=736 (dx=-5.0e-01, do=-4.2e-01)

pfsArm
= (x=2905.11, 0=2.11)

alExp
— (x 2904 61, 0=1.69)
m— Residual*s
== Trace

Y=1719 (dx=-1.4e-01, do=-1.4e-01)

pfsArm
= (x=2904.70, 0=1.48)
calExp
— (x=2904.56, 0=1.34)
= Residual*5
= Trace

Y=2702 (dx=-7.4e-02, do=-5.6€-02)

pfsArm
= (x=2908.65, 0=1.45)

calExp
m—(x=2908.57, 0=1.39)
e Residual*s

= Trace

Y=3684 (dx= 3.0e- 01, do= 4.2e- 01)

pfsArm
= (x=2913.23, 0=2.02)

calExp

(x=2913.16, 0=1.98)
e Residual*5
| Trace

i

pfsArm
= (x=2914.58, 0=1.65)

calExp
= (x=2914.82, 0=1.80)
= Residual*5
= Trace

I'Inn

2900 2910 2920

2930 2900 2910 2920 2930

T pfsArm
| = (x=2916.00, 0=1.19)
| calExp
= (x=2916.30, 0=1.61)
I = Residual*5
. 1 - Trace
- —— =

2910 2920 2930

Y=982 (dx=-2.7e-01, do=-2.6e-01)

pfsArm
= (x=2904.91, 0=2.06)
calExp
= (x=2904.64, 0=1.79)
— Residual*s
== Trace

Y=1965 (dx=-1.6e-01, do=-1.7e-01)

pfsArm
= (x=2905.97, 0=1.70)

calEx
- (x= 2905 81, 0=1.54)

e Residual*5
= Trace

1
Y=2947 (dx=-2.2e-02, do=4.7e-02)

T pfsArm
. = (x=2911.39, 0=1.55)

calExp
m—(x=2911.36, 0=1.60)
e Residual*5

== Trace

[

Y=3930 (dx=3.7e+00, do=3.3e-01)

pfsArm

= (x=2918.21, 0=1.46)
calExp

= (x=2921.91, 0=1.80)

e Residual*s
== Trace

1
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Y=245 (dx=-1.2e-02, do=-2.1e-02)

f=1484, X=2904.6

Y=491 (dx=3.3e-03, do=-2.3e-02)

pfsArm pfsArm
I = (x=2900.01, 0=1.12) | = x=2899.78,0=1.12)
1 calExp 1 calExp
= (x=2900.00, 0=1.09) = (x=2899.78, 0=1.10)

w— Residual*5
= Trace

m— Residual*5
== Trace

[
1
1

Y=736 (dx=-8.3e-03, do=-1.5e-02)

Y=1228 (dx=1.8e-02, do=-8.6e-03)

T pfsArm
| ™ (x=2899.78, 0=1.12)
1 calExp

- (x=2899.78, 0=1.10)
—Residual*s
== Trace

pfsArm
| ™ (x=2900.44, 0=1.13)

1 calExp
= (x=2900.46, 0=1.12)

w—— Residual*5

= Trace

pfsArm
= (x=2900.99, 0=1.13)

Y=1473 (dx=3.4e-02, do=-1.1e-02)
T
I
I

calExp
= (x=2901.02, 0=1.12)
m— Residual*5

= Trace

Y=1719 (dx=3.5e-02, do=4.3e-03)

Y=2210 (dx=4.1e-02, do=8.2e-03)

Y=2456 (dx=4.1e-02, do=7.6e-03)

I pfsArm
| ™ (x=2901.72, 0=1.14)

calExp
— (x=2901.75, 0=1.15)
e Residual*5

== Trace

T pfsArm pfsArm
| ™ (x=2903.49, 0=1.16) | ™ (x=2904.54,0=1.16)
1 calExp 1 calExp

== (x=2903.53, 0=1.16) = (x=2904.58, 0=1.17)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

Y=3193 (dx=2.5e-02, do=-3.4e-03)

Y=3439 (dx=2.3e-02, do=-1.7e-02)

1

Y=2702 (dx=3.2e-02, do=3.6e-04)
I pfsArm
| ™ (x=2905.70, 0=1.16)
| — (c:fzxgpos.n, 0=1.16)

m——Residual*5
== Trace

pfsArm
| ™ (x=2908.49, 0=1.17)

calExp

(x=2908.51, 0=1.16)
e Residual*5
| Trace

pfsArm
= (x=2910.16, 0=1.17)

calExp

(x=2910.18, 0=1.15)
m— Residual*5
= Trace

1
Y=3684 (dx=3.6e-02, do=-1.5e-02)

2900 2910 2920

2900 2910 2920

pfsArm
| ™ (x=2911.99, 0=1.16)
| calExp
™ (x=2912.02, 0=1.14)
m—Residual*s
== Trace
—

2900 2910 2920

Y=982 (dx=1.4e-02, do=-7.9e-03)

pfsArm
| ™ x=2900.00, 0=1.12)
1 calExp
= (x=2900.02, 0=1.11)
— Residual*s
== Trace

- Lo

Y=1965 (dx=2.8e-02, do=4.2e-03)

pfsArm
| ™ (x=2902.55 0=115)

1 calExp
— (x=2902.58, 0=1.16)

m——Residual*5
= Trace

Y=2947 (dx=4.3e-02, do=-3.4e-03)

I pfsArm
| ™ (x=2906.98 0=1.15)
1 calExp

= (x=2907.02, 0=1.15)
m——Residual*5
== Trace

Y=3930 (dx=4.9e-02, do=-1.9e-02)

pfsArm
= (x=2914.15, 0=1.17)

calExp
= (x=2914.20, 0=1.15)
m— Residual*5
- Trace

-
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f=1486, X=2892.4

Y=245 (dx=4.4e-01, do=-6.7e-01) Y=491 (dx=7.9e-01, do=-7.9e-01) Y=736 (dx=1.2e+00, do=-4.5e-01) Y=982 (dx=6.4e-01, do=-5.5e-01)
. ] . _|J: N
I
. pfsArm 1 pfsArm 1 pfsArm I 1 pfsArm I
- (x 2886.14, 0=2.56) i (x 2886.09, 0=2.54) - (x 2886.08, 0=2.53) I = (x 2886.08, 0=2.53) I
— calExp — calExp — calexp 1 . calExp 1
(x=2886.57, 0=1.89) ; - (x=2886.88, 0=1.75) (x=2887.24, 0=2.09) (x=2886.71, 0=1.98)
7| == Residual* L 7| == Residual* 7| == Residual* 7| == Residual*
= =g sl |1 = L |HH T Jﬂ'
. — ———— - - — o o ——— ———— - =11 o o ] ———— - ] —— o e - = —— I ————— o
I
T 1 T T T 1 T I
Y=1228 (dx=5.9e-01, do=-1.3e+00) Y=1473 dx 1.0e-01, do=-7.1e-01) Y=1719 (dx=-4.2e-01, do=-6.5e-01) Y=1965 (dX 1. Oe+00 do=-2.6e- 01)
| | | I'I-I.L‘JJJ IJ- | | | LL:.I J-rr .I"JJI'V'J | fSA
(x 2888.86, 0=2.42)
- -1 I = (CfLEZXEpBQBS, 0=2.16)
pfsArm 1 pfsArm . Il — Resiquars
= = (x=2887.57, 0=2.97) I "1 1 1x 2887 72, 0= 274) = (x=2888.72, 0=2.72) I " Trice
calExp. . calexp calExp
= (x=2888.16,0=1.70) I - ™ (x=2887.83, 0=2.04) L - = (x=2888.30, 0=2.07) I I I ~—~ I
= Residual*5 I e Residual*5 - Residual*5 N I
= Trace l .F w | Trace = Trace L q
1 _|.|.___'- T . 1 H.I .I.___ [ p— - {-F-4-—g - N LT I S 1
I I I
1 1 n I T I n

Y=2210 (dx=1.1e+00, do=-8.5e-01) Y=2456 (dx=7.2e-01, do=-3.2e-01) Y=2702 (dx=-6.0e-01, do=-6.0e-01) Y=2947 (dx=-6.9e+00, do=nan)

Ll L1y L

pfsArm pfsArm -
= (x=2890.16, 0=2.88) = (x=2890.82, 0=2.40)
calExp calExp
= (x=2891.26, 0=2.03) _| ™ (x=2891.54, 0=2.08)
- e Residual*5 = Residual*5 - B pfsArm
= (x=2893.41, 0=2.75) 4= (x 2900 70, o=nan)
- Trace = Trace
= calExp Exp
L = (x=2892.81, 0=2.15) "1 (x=2893.32,a:2.23i
1 — Residual*s = Residual*s
- - Trace - Trace -
LI 1 | At Bt | ARt | A -RReE
T 1 T T T T n T -d 1 T T
Y=3193 (dx=8.2e-01, do=-8.3e-01) Y=3439 (dx=2.5e+00, do=1.5e+00) Y=3684 (dx=-2.8e+02, do=nan) Y=3930 (dx=-3.0e+00, do=nan)
- T pfsArm 7 pfsArm T
= (x=2895.07, 0=2.85) i = (x=3177.45, o=nan) 1
calExp calExp | N
= (x=2895.89, 0=2.02) n = (x=2898.59, 0=1.69)
7 — Residual*s pfSAm 7| = Residual*s pfsArm
- iTBCE (x=2894.35, 0=0.48) - Trace m—(x=2902.74, 0=nan)
- calExp calExp
_,-l"_ T = (x=2896.81, 0=1.93) u = = (x=2899.72, 0=1.48)
7 1 = Residual*s 7 — Residual*s
_rLr- == Trace == Trace
[ 5 S . H pi - [ | N U___.”. U 1 N S | I - ] _.HH__ I
1 I | 1 I
T T T T T T
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Y=245 (dx=-2.3e-02, do=-2.3e-02)

f=1488, X=2880.1

Y=491 (dx=2.1e-04, do=-2.7e-02)

T pfsArm
| =™ x=2875.36,0=111)

1 calExp
= (x=2875.34, 0=1.09)

w— Residual*5
= Trace

T pfsArm
1 = (x=2875.16, 0=1.12)

1 calExp
. = (x=2875.16, 0=1.10)

m— Residual*5
== Trace

Y=736 (dx=-1.2e-02, do=-2.7e-02)

Y=982 (dx=7.3e-03, do=-1.0e-02)

pfsArm
1 = (x=2875.19, 0=1.12)
1 calExp

= (x=2875.17, 0=1.09)
—Residual*s
== Trace

T pfsArm
| = (x=2875.42,0=1.12)
1 calExp
= (x=2875.43, 0=1.11)
— Residual*s
== Trace

Y=1719 (dx=3.2e-02, do=-1.0e-02)

1
Y=1965 (dx=5.0e-02, do=-4.1e-03)

1 1

Y=1228 (dx=2.4e-02, do=-2.3e-02) Y=1473 (dx=1.0e-02, do=2.0e-03)
I fsArm pfsArm
| = (x=2875.84,0=1.14) | ™ (x=2876.44,0=1.13)
I r— (C;LEZXBP75.SG, 0=1.12) T I — (C:I=E2x8p76‘45, 0=1.13)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

I pfsArm
1 = (x=2877.17, 0=1.14)
1 calExp

= (x=2877.20, 0=1.13)

m——Residual*5
= Trace

I pfsArm
1 = (x=2878.01, 0=1.14)
1 calExp
= (x=2878.06, 0=1.14)
m—Residual*5

w= Trace

1
Y=2210 (dx=3.0e-02, do=6.5e-03) Y=2456 (dx=3.9e-02, do=7.3e-03)
pfsArm i I pfsArm
| ™ (x=2878.91,0=1.16) 1 = (x=2879.99, 0=1.15)
I r— ((5I=E2XSD7B.94, 0=1.16) I — ((:I=E2x8pﬂo 03, 0=1.16)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

- u

Y=2702 (dx=3.3e-02, do=8.2e-03)

I pfsArm
1 = (x=2881.15, 0=1.15)
1 calExp

= (x=2881.18, 0=1.16)

m——Residual*5
== Trace

T
1

1

Y=2947 (dx=4.4e-02, do=2.8e-03)
I pfsArm
| = (x=2882.43,0=1.16)
1 calExp

m—(x=2882.48, 0=1.16)
m——Residual*5
== Trace

Y=3193 (dx=3.9e-02, do=-2.8¢-02) Y=3439 (dx=1.8e-02, do=-2.2e-02)
T pfsArm pfsArm
| = (x=2883.86,0=1.17) 1 m—(x=2885.53, 0=1.16)
I = ;:EI:EZXBPSB.QO, 0=1.14) I r— (c:I:EZXSPSS 54, 0=1.14)

e Residual*5
| Trace

m— Residual*5
= Trace

Y=3684 (dx=3.6e-02, do=-2.0e-02)

Y=3930 (dx=2.0e-02, do=-2.5e-02)

pfsArm
| ™ (x=2887.38,0=116)

| calExp

= (x=2887.41, 0=1.14)
m—Residual*5
- Trace

2870 2880 2890

2870 2880 2890 2900

pfsArm
| = (x=2889.46, 0=1.16)

| calExp

= (x=2889.48, 0=1.13)
m—Residual*5
- Trace

2880 2890 2900

2880 2890 2900
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Y=245 (dx=1.1e-01, do=-2.1e-01)

f=1489, X=2873.9

Y=491 (dx=4.4e-02, do=-1.7e-01)

calExp
— (x=2869.69, 0=1.36)
= Residual*5

T pfsArm T pfsArm
1 = (x=2869.35, 0=1.63) 1 = (x=2869.34, 0=1.61)
calExp calExp
— (x=2869.47, 0=1.42) = (x=2869.39, 0=1.44)
m— Residual*s m— Residual*s
] = Trace 1 = Trace
ol il \;’}_'L‘..__
T 1 T T 1 T
Y=1228 (dx=-1.8e-01, do=1.2e-02) Y=1473 (dx=-8.1e-02, do=-7.4e-02)
T oram I pfsAm
| = x=2869.86, 0=1.35) 1 = (x=2870.53, 0=1.51)

calExp
= (x=2870.45, 0=1.43)

e Residual*5

| = (x=287274,0=1.49)

calExp
= (x=2872.78, 0=1.51)

wm— Residual*5

- Trace 1 - Trace
1 .
1
—
T — T T T T r
Y=2210 (dx=3.9e-02, do=2.5e-02) Y=2456 (dx=-5.0e-02, do=1.3e-02)
T pfsArm - T pfsArm

| = (x=287375 0=149)

calExp
== (x=2873.70, 0=1.50)

= Residual*5
== Trace

Y=736 (dx=2.1e-02, do=-2.1e-01)

Y=3193 (dx=4.8e-02, do=-2.0e-01)

T pfsArm
1 = (x=2869.34, 0=1.64)
1 calExp
= (x=2869.36, 0=1.43)
— Residual*s
== Trace
= -

pfsArm
== (x=2871.48, 0=1.57)

calExp
= (x=2871.39, 0=1.53)
e Residual*5
== Trace

pfsArm
= (x=2875.54, 0=1.58)

calExp.
—(x=2875.49, 0=1.57)
= Residual*s

- Trace

T -
e

Y=3684 (dx=-2.4e-01, do=7.4e-02)

pfsArm
| = (x=2877.51, 0=1.58)

| calExp

== (x=2877.56, 0=1.38)
e Residual*5

= Trace

pfsArm
= (x=2879.55, 0=1.45)

calExp
m—(x=2879.45, 0=1.43)
e Residual*5
w Trace

T
|
|
r e Residual*5
1 - Trace
|

pfsArm
= (x=2881.68, 0=1.38)

calExp
m—(x=2881.44, 0=1.45)

LE
-

2870 2880 2890

2870 2880 2890

H nn

2870 2880 2890

Y=982 (dx=7.8e-02, do=-1.6e-01)

pfsArm
= (x=2869.42, 0=1.54)

calExp
= (x=2869.50, 0=1.38)

e Residual*5

Y=1965 (dx=-3.0e-02, do=-3.3e-02)

pfsArm
=== (x=2871.80, 0=1.48)

calExp
= (x=2871.77, 0=1.44)
== Residual*5
== Trace

-

pfsArm
= (x=2876.66, 0=1.40)

calExp
= (x=2876.40, 0=1.48)

e Residual*5
== Trace

pfsArm
= (x=2883.60, 0=1.39)

calExp
= (x=2883.48, 0=1.40)
m— Residual*s
- Trace

2870 2880 2890
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Y=245 (dx=2.9e-01, do=-1.4e-02)

f=1515, X=2713.5

Y=491 (dx=3.0e-01, do=1.3e-01)

a

T SA

pfsArm
= (x=2706.56, 0=1.84)

calExp
= (x=2706.85, 0=1.82)

1

1

I e Residual*5
1 '

1

1

pfsArm
= (x=2706.47, 0=1.81)

calExp
= (x=2706.77, 0=1.94)

1
1
I e Residual*5
1
1
1

== Trace

Y=736 (dx=2.6e-01, do=2.3e-01)

!

pfsArm
(x=2706.27, 0=1.77)

calExp
= (x=2706.53, 0=1.99)
m— Residual*s

== Trace

Y=1719 (dx=1.9e-01, do=2.8e-01)

pfsArm
== (x=2707.87, 0=1.58)

calExp
== (x=2708.06, 0=1.85)
== Residual*5

== Trace

Y=1228 (dx=2.5e-01, do=1.8e-01) Y=1473 (dx=5.9e-02, do=-4.3e-02)
bl I pfsArm I pfsArm
| = (x=270727, 0=176) 1 = (x=2708.74, 0=1.89)
1 calExp _ 1 calExp
m—(x=2707.53, 0=1.95) B m—(x=2708.80, 0=1.85)
I w— Residual*s I e Residual*s
1 - Trace 1 - Trace
1 i 1
1
I
7 T TA0TTTT™0T
1 I| T |I n T
Y=2210 (dx=2.5e-02, do=1.1e-01) Y=2456 (dx=4.8e-02, do=1.5e-01)
J L pfsArm pfsArm
—(x=2710.22, 0=1.78) —(x=2711.11, 0=1.72)
calExp calEx

m—(x=2710.24, 0=1.89)
e Residual*5
w— Trace

| oyt

: S

— (x=2711.16, 0=1.87)
e Residual*5
= Trace

Sy
Y=2702 (dx=-4.5-02, do=3.6e-02)

x=3.7e-01, do=2.9e-01)

Y=3439 (dx=2.0e-01, do=5.0e-02)

pfsArm
= (x=2712.28, 0=1.83)

calExp
= (x=2712.24, 0=1.86)

e Residual*s
== Trace

—_—

pfsArm
- (x=2715.29, 0=1.79)

calExp
= (x=2715.66, 0=2.08)
me= Residual*5
= Trace

-

pfsArm
= (x=2716.95, 0=2.03)

calExp
= (x=2717.14, 0=2.08)
e Residual*5
= Trace

Y=3684 (dx=2.4e-01, do=2.9e-01)

2710 2720 2730

2710

2720 2730

pfsArm
= (x=2718.14, 0=1.76)

calExp
= (x=2718.39, 0=2.05)
e Residual*s
= Trace

2710

2720 2730

Y=982 (dx=5.3e-01, do=3.5e-02)

pfsArm
= (x=2707.98, 0=1.93)

T
|
1 calExp
1 = (x=2708.50, 0=1.96)

e Residual*5

| JL:,CE

Y=1965 (dx=-9.6e-03, do=-5.4e-03)

pfsArm
= (x=2709.24, 0=1.80)
calExp
= (x=2709.23, 0=1.79)
e Residual*5

T
1
1
|
I = Tace
1
1
1

1
=2947 (dx=2.0e-01, do=1.6e-01)

pfsArm
= (x=2714.63, 0=1.70)

calExp
m—(x=2714.83, 0=1.86)
e Residual*5

= Trace

- o — o S — I
I' T
Ol : :

Y=3930 (dx=5.1e-01, do=2.2e-01)

pfsArm

= (x=2720.78, 0=1.89)
calExp

= (x=272128, 0=2.11)

e Residual*5

- Trace
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Y=245 (dx=2.1e-03, do=-6.3e-02)

f=1516, X=2707.4

Y=491 (dx=2.0e-02, do=-5.9e-02)

pfsArm
= (x=2702.20, 0=1.27)

calExp
= (x=270221, 0=1.21)
w— Residual*5
= Trace

pfsArm
(x=2702.20, 0=1.28)

calExp
= (x=2702.23, 0=122)

m— Residual*5

T T T T T T
Y=1228 (dx=7.2e-03, do=-1.8e-02) Y=1473 (dx=1.7e-02, do=-1.6e-02)
h I pfsArm I pfsArm
1 = (x=2703.27, 0=1.33) = (x=2704.02, 0=1.24)
1 calExp calExp
= (x=2703.27, 0=1.31) = (x=2704.04, 0=1.23)
w—— Residual*5 m— Residual*5
- Trace = Trace
T T 1 T T T 1 T T
Y=2210 (dx=-1.6e-02, do=3.6e-02) Y=2456 (dx=-5.4e-03, do=2.2e-02)
I pfsArm I pfsArm
| = (x=2706.29, 0=1.49) | = (x=270727,0=152)
1 calExp 1 calExp
= (x=2706.27, 0=1.53) = (x=2707.26, 0=1.54)
w— Residual*5 m— Residual*5
- Trace - Trace
T T L T T T 1 T T
Y=3193 (dx=4.1e-02, do=-2.0e-02) Y=3439 (dx=-4.4e-02, do=7.3e-04)
pfsArm pfsArm
= (x=2711.13, 0=1.33) | = x=2712.28,0=162)
calExp | calExp
- (x=2711.17, 0=1.31) —(x=2712.24, 0=1.62)
w— Residual*5 m— Residual*s
- Trace - Trace

2700

2710 2720

2700 2710 2720

Y=736 (dx=3.3e-02, do=-2.7e-02)

Y=982 (dx=6.2e-02, do=-1.9e-02)

pfsArm
= (x=2702.31, 0=1.37)
calExp
= (x=2702.35, 0=1.34)
—Residual*s
== Trace

pfsArm
(x=2702.32, 0=1.70)

calExp
= (x=2702.38, 0=1.69)
— Residual*s
== Trace

Y=1719 (dx=-1.6e-02, do=1.5e-02)

I pfsArm
| ™ x=270429, 0=1.68)

calExp
= (x=2704.27, 0=1.70)
e Residual*5

== Trace

pfsArm
= (x=2705.30, 0=1.54)
calExp
= (x=2705.28, 0=1.58)
m—Residual*5
= Trace

Y=2702 (dx=-2.7e-02, do=6.8e-02)

pfsArm
| = (x=270827,0=1.61)

calExp
—(x=2708.24, 0=1.67)
m——Residual*5

= Trace

1

Y=2947 (dx=-4.1e-03, do=3.0e-02)
I pfsArm
| = (x=2709.26,0=177)

calExp
m—(x=2709.26, 0=1.80)
m——Residual*5

== Trace

pfsArm
= (x=2714.22, 0=1.37)

calExp
= (x=2714.22, 0=1.33)
m—Residual*5
- Trace

pfsArm
= (x=2716.13, 0=1.31)

calExp
= (x=2716.15, 0=1.29)
m— Residual*5
== Trace

2700 2710 2720

2730 2700
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Y=245 (dx=-3.2e-02, do=-3.1e-02)

f=1517, X=2701.3

Y=491 (dx=-1.2e-02, do=-2.7e-02)

7 T pfsArm
1 = (x=2696.19, 0=1.12)

1 calExp
= (x=2696.16, 0=1.09)

w— Residual*5
= Trace

T pfsArm
1 = (x=2696.20, 0=1.12)

1 calExp
= (x=2696.19, 0=1.09)

m— Residual*5
== Trace

Y=736 (dx=-6.6e-04, do=-1.8e-02)

Y=982 (dx=3.1e-03, do=-2.5e-02)

T pfsArm
| ™ (x=2696.40, 0=1.12)
1 calExp
= (x=2696.40, 0=1.10)
—Residual*s
== Trace

T pfsArm
| ™ (x=2696.77,0=1.13)
1 calExp
= (x=2696.77, 0=1.11)
— Residual*s
== Trace

m—— Residual*5
= Trace

1
Y=1228 (dx=2.3e-02, do=-3.8e-03) Y=1473 (dx=1.0e-02, do=-6.8e-03)
pfsArm I fsArm
| = (x=2697.32,0=1.12) | ™ (x=2697.94,0=1.13)
I r— (C;LEZXGPQTBA‘, 0=1.12) I — (C:I=E2x6pg7‘95, 0=1.13)

m—— Residual*5
= Trace

m—— Residual*5
w— Trace

1
Y=2210 (dx=5.4e-02, do=-5.9e-03) Y=2456 (dx=3.1e-02, do=-6.7e-03)
I pfsArm pfsArm
I ™ x=2700.50, 0=1.16) I = (x=270151,0=1.16)
N 1 r— ((557'300.55, 0=1.15) 1 m— ((:LE;;M 54, 0=1.15)

m— Residual*5
= Trace

Y=3193 (dx=3.0e-02, do=-1.7e-02)

Y=3439 (dx=9.2e-03, do=-6.9e-03)

pfsArm
1 = (x=2705.17, 0=1.17)

calExp
- = (x=2705.20, 0=1.15)
e Residual*5
| Trace

T pfsArm
| = (x=2706.63, 0=1.17)

| calExp

= (x=2706.64, 0=1.16)
m— Residual*s
- Trace

2690 2700 2710

2720 2690 2700 2710 2720

Y=1719 (dx=3.4e-02, do=-9.9e-03)

Y=1965 (dx=3.2e-02, do=1.1e-02)

I pfsArm
| = (x=2698.72, 0=1.15)
1 calExp

- (x=2698.75, 0=1.14)

m——Residual*5
= Trace

pfsArm
| ™ (x=2699.57, 0=1.15)

1 calExp
= (x=2699.60, 0=1.16)

m—Residual*5

== Trace

Y=2947 (dx=3.2e-02, do=-6.3e-03)

1

Y=2702 (dx=3.3e-02, do=1.1e-02)
I pfsArm
| = (x=270261, 0=1.16)
l — (c:fzxyoz.ea, 0=1.17)

m——Residual*5
== Trace

pfsArm

| =™ (x=2703.80, 0=1.16)
1 calExp

= (x=2703.83, 0=1.15)

m——Residual*5
== Trace

Y=3684 (dx=2.2e-02, do=-1.1e-02)

pfsArm
| = (x=270829,0=117)

| calExp

= (x=2708.31, 0=1.16)
m— Residual*5

= Trace

1
Y=3930 (dx=2.1e-02, do=-2.3e-02)
T pfsArm
1 —(x=2710.13, 0=1.17)
| — (C;‘:E;;ID.IS, 0=1.15)

m— Residual*5
== Trace
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Y=245 (dx=2.3e-01, do=-1.3e-01)

f=1518, X=2695.1

Y=491 (dx=3.7e-01, do=-4.1e-01)

| pfsArm T O
1 = (x=2690.89, 0=2.14) 1
1 calExp 1
1 m—(x=2691.27, 0=1.73) |
pfsArm Residual"s
= (x=2689.75, 0=1.95) === Residual
I = Trace I
calExp .
m—(x=2689.98, 0=1.82) 1
e Residual*5
= Trace
b - 1]

Y=1228 (dx=1.7e-01, do=-2.9e-01)

Y=1473 (dx=5.0e-01, do=-2.4e-01)

o = (x=2694.71, 0=2.04)

111 I

pfsArm
= (x=2691.79, 0=2.12)

calExp
—(x=2691.96, 0=1.83)
== Residual*5

w1 Trace

-

pfsArm
= (x=2691.49, 0=2.09)

calExp
= (x=2691.99, 0=1.85)
== Residual*5

= Trace

Y=2210 (dx=4.6e-01, do=-3.7e-01)

Y=2456 (dx=4.1e-01, do=-6.4e-01)

pfsArm

calExp
—(x=2695.17, 0=1.67)
= Residual*5

w— Trace

pfsArm
= (x=2695.76, 0=2.11)

calExp
—(x=2696.16, 0=1.47)
e Residual*5

w Trace

Y=3193 (dx=7.4e-01, do=-8.0e-01)

pfsArm

| |= (x=2698.91, 0=1.92)
| 1 calExp

™ (x=2699.64, 0=1.12)

= Residual*5
= Trace

Il I [L
f_H

pfsArm
= (x=2700.49, 0=1.76)

calExp
= (x=2700.76, 0=1.57)
e Residual*5
= Trace

2690 2700 2710

2690 2700 2710

Y=736 (dx=3.8e-01, do=-5.0e-01)

L

pfsArm
= (x=2690.73, 0=2.12)
calExp
= (x=2691.11, 0=1.62)
s Residual*5
== Trace

G~ = R ——

Y=1719 (dx=2. 6e- 01, do=-3. 10e- Ol)

- (x:AZ692.60, 0=2.10)
calExp

= (x=2692.87, 0=1.81)

= Residual*5

= Trace

=2702 (dx=4.1e-01, do=-3.1e-01)

=<

T pfsArm
| |™ (x=2696.60, 0=2.00)
1 calExp

= (x=2697.01, 0=1.68)
I == Residual*5
1 = Trace

Y=3684 (dx=-1.4e-01, do=-4.6e-02)

L IE

|
1
1 pfsArm
|
|

= (x=2703.04, 0=1.97)

calExp
= (x=2702.90, 0=1.92)
= Residual*5
== Trace

i

2690 2700 2710

calExp
= (x=2690.82, 0=1.85)
e Residual*5

Y=982 (dx=1.9e-01, do=-2.9e-01)

i
bap -t

™ (x=2690.62,a=2.14)
Y=1965 (dx=3. de- 01, do=-3. 2e- 01)

e = ———

pfsArm
| I (x22693.63, 0=2.01)

calExp
= (x=2693.96, 0=1.69)
= Residual*5

== Trace

Y=2947 (dx=-3.1e-02, do=-6.9e-02)

I pfsArm
| |™ (x=2697.50, 0=2.02)
1 calExp
= (x=2697.47, 0=1.95)
— I = Residual*5
n - Trace
-
-
. - - -

Y=3930 (dx=-4.5e- 02 do=-1.9e- 01)

0

N T pfsArm
I |™ (x=2703.87, 0=1.77)

l calExp
= (x=2703.82, 0=1.58)

e Residual*5
== Trace

| [

2690 2700 2710
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Y=245 (dx=-5.6e-01, do=5.3e-01)

f=1519, X=2689.0

Y=491 (dx=-4.1e-01, do=4.9e-01)

Il

pfsArm
= (x=2683.72, 0=1.25)

calExp
I | |== (x=2683.16, 0=178)
I = Residual*5

I = Trace

-4

|

pfsArm
== (x=2683.54, 0=1.49)
calExp
= (x=2683.13, 0=1.98)
— Residual*s
== Trace

Y=1228 (dx=-5.5e-01,

Y=1473 (dx=-6.3e-01, do=2.7e-01)

e Residual*5

pfsArm
= (x=2686.15, 0=1.72)

calExp
= (x=2685.60, 0=1.77)

:
I
T
1

]

|

pfsArm
M ™ (x=2686.10, 0=1.47)

w— Trace
- éf'f%wa
1 = Trace
T n n T T T L| EI | t
Y=2210 (dx=-4.7e-01, do=-1.9e-01) Y=2456 (dx=-1.5e+00, do=-1.1e-01)

|

.

pfsArm
= (x=2689.03, 0=1.64)

calExp
= (x=2688.56, 0=1.45)
e Residual*5
= Trace

o

I

!

pfsArm
= (x=2690.05, 0=1.67)

calExp
H | = (x=2688.53, 0=1.56)
me— Residual*5
w Trace

A

Y=3193 (dx=-1.4e

+00, do=-3.8e-01

)

Y=3439 (dx=-1.9e-01, do=5.9e-02)

f

pfsArm
= (x=2692.64, 0=1.40)

calExp
m—(x=2691.20, 0=1.02)
e Residual*5
= Trace

) —— ]

i

|

pfsArm
m—(x=2694.50, 0=1.41)

calExp
= (x=2694.31, 0=1.46)
=== Residual*5
= Trace

Pttt

_1f
|t

2680

2690

2700

2680

2690

2700

Y=736 (dx=-7.1e-01, do=-1.2e-01)

i

Y

fsSArm
= (x=2684.95, 0=1.65)

calExp
= (x=2684.24, 0=1.52)

™) == Residual*5
-J— Trace
Y=1719 (dx=-8.3e-01, do=2.0e-01)
- rJ
pfsArm
T m—(x=2687.02, 0=1.56)
= (cflzg;gss.lg,ud.m)
[ [} J— Residual*s
== Trace
Y=2702 (dx=-1.0e-01, do=-1.4e-01)

-

L
7] L

il

pfsArm
== (x=2690.87, 0=1.57)

calExp
= (x=2690.76, 0=1.43)
N Residual*5
= Trace

-

3684 (dx=-9

.1e-01, do=3.5e-01)

1AL

-

U |

pfsArm
= (x=2695.76, 0=1.37)

calExp
= (x=2694.85, 0=1.72)
m—Residual*5
= Trace

2710 2680

2690

5771

2700 2710

Y=982 (dx=-7.0e-01, do=2.5e-01)

pfsArm

== (x=2685.08, 0=1.54)

calExp
= (x=2684.38, 0=1.79)
'I— Residual*5
== Trace

._|.-_..-_

Y=1965 (dx=-8.6e-01, do=-7.8e-02)

pfsArm

== (x=2687.82, 0=1.55)
calExp

= (x=2686.96, 0=1.47)

e Residual*5
= Trace

A

Y=2947 (dx=-8.7e-01, do=4.5e-01)

= —
I

il

]
I-l
1
1

T

| pfsArm

— (x=2692.12, 0=1.58)
calExp

= (x=2691.24, 0=2.03)

= Residual*5
= Trace

393

=<
I

i

0 (dx=-3.3e-02, do=9.8e-02)

—l

171

Yl

i

AN

pfsArm
m—(x=2697.58, 0=1.39)

calExp
= (x=2697.54, 0=1.49)
w—Residual*5
== Trace

2690

Th-tt

2700 2710
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Y=245 (dx=2.6e+00, do=nan)

f=1773, X=1194.8

Y=491 (dx=2.6e+00, do=9.8e-01)

INN

mm (x 1182 76, o=nan)

— s 31, 02 td) J'L
e Residual*5

pfsArm LLLL
1= (x 1185.47, 0=0.57)

- (x=1188,11, 0=1,55)
e Residual*5

v (U

1 __H____-

H

- Trace = Trace
{ -1 - {45 “HE
T T T T T 1 T
Y=1228 (dx=2.4e+00, do=1.7e+00) Y=1473 (dx=3.6e+00, do=nan)
I -
| 1 1
I —
pfsArm | - pfsArm 1
= (x=1189.08, 0=0.27) L 1 = (x=1189.46, o=nan) =
calExp calExp ]
= (x=1191.53, 0=1.99) || 1 = (x=1193.05, 0=1.70)
—Residual*s 1 | == Residual*s 1 -
- Trace 1 - - Trace 1 I
l 1F ] H .I _____ l 1e
1 1
1 I 1

Y=2210 (dx=1.5e+00, do=1.8e+00)

Y=2456 (dx=2.3e+00, do=1.9e+00)

Y=736 (dx=3.1e+00, do=1.7e+00)

I h

™ (x 1187 04, 0=0.51)

™ lx=1190,12, 0=2.18)
== Residual*5
== Trace

-

Y=1719 (dx=4.3e+00, do=nan)

pfsArm
= (x=1189.41, o=nan)

calExp
(x=1193.75, 0=1.46)

e Residual*5

= Trace

__|.___.

il

Y=2702 (dx=2.

pfsArm
= (x=1193.50, 0=0.56)

calEx|
= (x=1195.01, 0=2.40)
e Residual*5
= Trace

|

in

== (x=1194.50, 0=0.55)

P
—(x=1196.84, 0=2.49)
= Residual*5

pfsArm

calEx|

Trace

1|

i

0

Y=3193 (dx=3.0e+00, do=1.7e+00)

Y=3439 (dx=4.0e+00, do=1.6e+00)

T pfsArm T

| | = (x=1195.49, 0=0.50) i 1 =
- 1 calExp - |

| = (x=1198.53, 0=2.18) = | =

m— Residual*5 —— PSATM
1| = moce (x=1195.49, 6=0.50)
[= . calExp ™
L = (x=1199.48, 0=2.08) u
= Residual*5
l == Trace
- -

1 -
B b - - - ——— =" =

1 -

T

1190

1200

1210

1190

1200

1210

T (x 1194 50, 0=0.50)

(X=1197.16, 0=2.57)
e Residual*5
w  Trace

Ft-

L

Y=3684 dX 2.

9e+00, do=2.1e+00)

| T

pfsArm
—(x=1196.06, =0.60)

calExp
= (x=1198.94, 0=2.66)
= Residual*5
== Trace

ik

IR

11

1190

1200

1210

Y=982 (dx=1.3e+00, do=1.4e+00)

IR

T (x 1188 56, 0=0.59)

T (x=1189‘82,0=2400i
e Residual*5
== Trace

Y=1965 (dx=1.3e+00, do=1.2e+00)

pfsArm =
= (x=1192.55, 0=0.80)

calExp
= (x=1193.85, 0=1.96)
e Residual*5 -
w—  Trace

i

|

-1

Y= 2947 (

3.1e-01, do=1.2e-01)

M-

L

calEx|

= Trace

pfsArm
= (x=1195.50, 0=0.56)

p
= (x=1195.82, 0=0.68)
= Residual*5

i

= (x=1195.49, 0=0,50)

calExp
= (x=1197.63, 0=2.25)
= Residual*s
= Trace

Y=3930 (dx=2.1e+00, do=1.7e+00)
| pf!Arml I.ILLL'

_.I_ﬂ___

i
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1200

1210
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Y=245 (dx=-1.6e-02, do=-1.0e-02)

f=1775, X=1182.6

Y=491 (dx=-2.1e-02, do=-3.3e-02)

T T pfsArm T T pfsArm
| = (x=117453,0=1.16) 1 = (x=1176.32, 0=1.16)
1 calExp 1 calExp

= (x=1174.51, 0=1.15)
s Residual*5

= (x=1176.30, 0=1.12)
m— Residual*5

Y=1473 (dx=-2.0e-02, do=-1.4e-02)

pfsArm
= (x=1180.44, 0=1.17)

calExp
= (x=1180.42, 0=1.16)
w—— Residual*5

calExp
- = (x=1181.49, 0=1.17)

pfsArm
| ™ (x=118151,0=118)

m—— Residual*5
= Trace

m—— Residual*5

1
Y=2210 (dx=-4.9e-02, do=5.6e-03) Y=2456 (dx=-5.1e-02, do=1.2e-02)
I pfsArm I pfsArm
| ™ (x=1184.19, 0=1.20) ] 1 = (x=1184.92, 0=121)
T 1 — ((fg(lpsa.ls, 0=121) 1 e ((:LEH}SA 87, 0=1.22)

m— Residual*5
= Trace

Y=3193 (dx=-4.3e-02, do=-4.8e-03)

Y=3439 (dx=-1.5e-02, do=-9.0e-03)

pfsArm
| ™ (x=1186.40, 0=125)

calExp
= (x=1186.36, 0=1.24)
w— Residual*5
= Trace

- == Trace

pfsArm
| ™ (x=1186.60, 0=126)

calExp
= (x=1186.58, 0=1.25)
m— Residual*s

1170 1180 1190 1200

1170 1180 1190 1200

Y=736 (dx=5.7e-03, do=-2.8e-02)
T

pfsArm
| = (x=1177.82,0=1.19)

1 calExp
= (x=1177.83, 0=1.16)

m—— Residual*5

Y=1719 (dx=-3.5e-02, do=-2.0e-02)

pfsArm

| ™ (x=1182.49, 0=1.19)
1 calExp

- = (x=1182.46, 0=1.17)

m——Residual*5

= Trace

I
Y=2702 (dx=-2.9e-02, do=1.2e-02)
I pfsArm
- I m—(x=1185.50, 0=1.23)
1 calExp

—(x=1185.47, 0=125)
m——Residual*5
= Trace

1
Y=3684 (dx=-2.7e-02, do=-5.9e-03)

T pfsArm
| ™ (x=1186.63, 0=1.25)

calExp
= (x=1186.61, 0=125)
m—Residual*5

1170 1180 1190 1200

Y=982 (dx=-3.3e-02, do=-2.2e-02)

pfsArm
| ™ x=1179.24,0=1.16)

1 calExp
= (x=1179.21, 0=1.13)

= Residual*5

Y=1965 (dx=-3.4e-02, do=-7.4e-03)

pfsArm
| ™ x=1183.38,0=120)

calExp
= (x=1183.35, 0=1.19)

1
Y=2947 (dx=-2.7e-02, do=6.0e-03)
I pfsArm
- 1 = (x=1186.04, 0=1.22)
I e e 01, 0m123)

Y=3930 (dx=-2.8e-02, do=-7.4e-03)

pfsArm
| ™ (x=1186.48, 0=125)

calExp
= (x=1186.45, 0=1.24)

1170 1180 1190 1200
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Y=245 (dx=-1.7e-02, do=-2.5e-02)

f=1786, X=1114.7

Y=491 (dx=-1.8e-02, do=-2.2e-02)

T pfsArm
| ™ (x=1106.52, 0=119)

1 calExp
= (x=1106.50, 0=1.16)

w— Residual*5

T pfsArm
| ™ (x=1108.41,0=1.17)

1 calExp
= (x=1108.39, 0=1.15)

m— Residual*5

- == Trace

Y=1228 (dx=-2.1e-02, do=-4.8e-02)

Y=1473 (dx=2.4e-03, do=-2.8e-02)

m—— Residual*5
= Trace

pfsArm I fsArm
| = (x=1112.66,0=124) | = (x=111374,0=1.29)
1 calExp 1 calExp
— (x=1112.64, 0=1.19) = (x=1113.74, 0=1.26)

- m—— Residual*5

- m——Residual*5

Y=2210 (dx=-3.3e-02, do=-2.9e-02)

Y=2456 (dx=-6.2e-02, do=-1.5e-02)

m—— Residual*5

pfsArm pfsArm
| ™ x=1116.49, 0=126) 1 = (x=1117.24, 0=1.24)
1 calExp 1 calExp
m—(x=1116.46, 0=1.23) - —(x=1117.17, 0=1.22)

m— Residual*5
= Trace

- 1 calExp

Y=3193 (dx=1.8e-03, do=-6.5€-02)

Y=3439 (dx=2.9e-02, do=-4.2e-02)

e Residual*5
| Trace

T pfsArm - T pfsArm
| = (x=1118.56,0=1.33) | = (x=1118.67, 0=1.36)
| calExp | calExp

= (x=1118.56, 0=1.27) = (x=1118.70, 0=1.32)

m— Residual*5
= Trace

1110 1120 1130

1110 1120 1130

Y=736 (dx=-1.3e-02, do=-3.3e-02)
T

pfsArm
1 = (x=1110.07, 0=1.16)
1 calExp

= (x=1110.06, 0=1.13)

m—— Residual*5

|
Y=1719 (dx=-2.0e-02, do=-2.4e-02)

I pfsArm
| ™ x=111474,0=130)

1 calExp
- (x=1114.72, 0=1.28)

w Trace

Y=2702 (dx=-1.9e-02, do=-3.6e-02)

I pfsArm
| ™ x=1117.70,0=1.35)
= (x=1117.68, 0=1.31)

m——Residual*5
== Trace

Y=3684 (dx=-1.3e-03, do=-4.6€-02)

pfsArm
| = (x=1118.65 0=135)

calExp
= (x=1118.64, 0=1.30)
m—Residual*5

1110 1120 1130

Y=982 (dx=-2.4e-02, do=-2.3e-02)
T

pfsArm
| ™ (x=1111.45,0=1.18)

1 calExp
= (x=1111.42, 0=1.16)

= Residual*5

Y=1965 (dx=-2.0e-02, do=-1.6e-02)

. T pfsArm
| ™ (x=1115.65 0=129)
1 calExp

= (x=1115.63, 0=1.27)
= m—Residual*5
= Trace

1
Y=2947 (dx=-3.1e-02, do=-3.0e-02)

pfsArm
| ™ (x=111829 0=126)

T 1 calExp
= (x=1118.26, 0=1.23)

m——Residual*5

Y=3930 (dx=2.3e-02, do=-3.7e-02)

pfsArm
| ™ (x=1118.44, 0=1.30)

calExp
= (x=1118.46, 0=1.26)
-1 m—Residual*5

1110 1120 1130
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Y=245 (dx=1.4e-02, do=-3.1e-02)

f=1876, X=559.0

Y=491 (dx=1.7e-02, do=-2.6e-02)

= (x=549.07, 0=1.17)
m—Residual*s

pfsArm pfsArm
1 = (x=549.06, 0=1.20) 1 = (x=551.76, 0=1.22)
1 calExp 1 calExp

= (x=551.78, 0=1.20)
— Residual*s
== Trace

m——Residual*5
= Trace

1
Y=1228 (dx=1.4e-02, do=-1.9e-02) Y=1473 (dx=-1.5e-02, do=-2.2e-02)
I pfsArm I pfsArm
1 = (x=557.84, 0=1.24) 1 = (x=559.35, 0=1.24)
1 | = (Cffsxspms, 0=1.22) I ok,

- = (x=559.34, 0=1.22)

mm—Residual*5
= Trace

m——Residual*5
== Trace

]
1
Y=2210 (dx=-4.7e-02, do=-1.0e-02) Y=2456 (dx=-5.7€-02, do=3.1e-02)
I pfsArm I pfsArm
1 = (x=562.33, 0=1.28) i 1 = (x=562.80, 0=1.29)
T 1 e (cf‘ggz.zs, 0=127) 1 e (C;‘:Eggz 75, 0=1.33)

mmResidual*5

Y=3193 (dx=-2.9e-02, do=-1.0e-02)

Y=3439 (dx=-4.7e-02, do=-4.1e-03)

- mm Residual*5
== Trace

pfsArm pfsArm
1 = (x=563.19, 0=1.31) 1 = (x=562.63, 0=1.31)
| calExp | calExp
= (x=563.16, 0=1.30) = (x=562.59, 0=1.31)

m Residual*5
w— Trace

550 560 570

550 560 570

Y=736 (dx=1.5e-02, do=-3.0e-02)

T pfsArm
1 = (x=554.19, 0=120)
1 calExp
. = (x=554.21, 0=1.17)

w—— Residual*5

1
Y=1719 (dx=-1.5e-02, do=-4.8e-03)
E T
1 = r;iAsrg?).sx 0=126)
| - 1C:|=E5X§o‘52, 0=1.26)

m—— Residual*5
= Trace

Y=2702 (dx=-5.9e-02, do=-2.0e-04)

I pfsArm

- 1 = (x=563.25, 0=1.29)
1 calExp

= (x=563.19, 0=1.29)

mm— Residual*5

Y=3684 (dx=-9.9e-03, do=-2.8e-02)

pfsArm
1 = (x=561.78, 0=1.31)
| calExp
= (x=561.77, 0=1.28)

- mm Residual*5

550 560 570

Y=982 (dx=-1.5e-02, do=-2.6e-02)
T

pfsArm
1 = (x=556.21, 0=1.20)
1 calExp

= (x=556.20, 0=1.18)

Y=1965 (dx=-8.5e-03, do=4.0e-03)

T fsArm
1 = (x=561.53, 0=127)

- 1 calExp
= (x=561.52, 0=1.28)

m—— Residual*5

Y=2947 (dx=-6.1e-02, do=-1.7e-02)

pfsArm
1 = (x=563.34, 0=1.30)

calExp
=== (x=563.28, 0=1.28)
m— Residual*5

= Trace

Y=3930 (dx=-3.4e-02, do=-2.0e-02)

E pfsArm
1 = (x=560.61, 0=1.30)

| calExp
= (x=560.58, 0=1.28)

m— Residual*5
= Trace

1
550 560 570
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Y=245 (dx=-1.6e-01, do=-2.0e-01)

f=1897, X=429.0

Y=491 (dx=-1.2e-01, do=-2.0e-01)

pfsArm
= (x=416.03, 0=1.73)

calExp
= (x=415.88, 0=1.53)
m— Residual*5

== Trace

T
1

pfsArm
= (x=418.99, 0=1.70)

calExp
= (x=418.87, 0=1.50)

e Residual*s
= Trace

13T~ 1° A
1

Y=1228 (dx=-3.2e-02, do=-1.6e-01)

Y=1473 (dx=-4.9e-02, do=-8.6e-02)

pfsArm
= (x=426.55, 0=1.92)

calExp
= (x=426.52, 0=1.75)
e Residual*5

== Trace

pfsArm
= (x=426.85, 0=1.56)
calExp
= (x=426.80, 0=1.47)
= Residual*5
= Trace

P

Y=2210 (dx=-1.2e-02, do=-5.3e-02)

pfsArm
= (x=429.69, 0=1.38)

calExp
—(x=429.67, 0=1.33)
e Residual*5

= Trace

pfsArm

= (x=430.90, 0=1.63)
calExp

= (x=430.77, 0=1.37)

= Residual*5

1
1
|
1 - Trace
1
1
1

Y=3193 (dx=-6.3e-02, do=-2.6e-03)

Y=3439 (dx=-1.5e-02, do=-4.0e-02)

pfsArm
= (x=431.16, 0=1.72)
calExp
= (x=431.10, 0=1.72)
m—Residual*5
- Trace

pfsArm
— (x=429.79, 0=1.45)
calExp
— (x=429.77, 0=1.41)
e Residual*s

T
1
|
|
1 - Trace
1
1
1

420 430 440

420 430 440

Y=736 (dx=-2.3e-02, do=-1.4e-01)

pfsArm
= (x=422.45, 0=1.94)

calExp
= (x=422.43, 0=1.80)

e Residual*s
= Trace

I

Y=1719 (dx=-1.3e-02, do=2.0e-02)

pfsArm
— (x=427.78, 0=1.49)

calExp
— (x=427.77, 0=1.51)
= Residual*5
= Trace

Y=2702 (dx=-6.1e-02, do=-1.2e-01)

pfsArm
= (x=430.78, 0=1.46)

calExp
—(x=430.72, 0=1.34)
= Residual*5

w— Trace

Y=3684 (dx=3.3e-02, do=-7.5e-02)

pfsArm
= (x=428.88, 0=1.53)

calExp
= (x=428.92, 0=1.46)

me Residual*5
w— Trace

420 430 440

Y=982 (dx=-5.9e-02, do=-2.5e-01)

pfsArm
= (x=424.30, 0=1.86)

calExp
= (x=424.25,0=1.61)

e Residual*5
== Trace

Y=1965 (dx=-2.8e-02, do=-7.6e-02)

l

Y=2947 (dx=-5.6e-02, do=-1.3e-01)

pfsArm
= (x=428.60, 0=1.28)
calExp
= (x=428.57, 0=1.21)
= Residual*5
= Trace

pfsArm
= (x=430.79, 0=1.46)

calExp
m—(x=430.74, 0=1.33)
e Residual*5

T
1
1
|
1 - Trace
1
1
1

Y=3930 (dx=5.6e-02, do=-2.9e-02)

pfsArm
= (x=426.69, 0=129)

calExp
= (x=426.74, 0=1.26)
e Residual*5

T
1
|
|
1 - Trace
1
1
1
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Y=245 (dx=7.9e-02, do=-1.7e-02)

f=1898, X=422.8

Y=491 (dx=5.3e-02, do=-3.7e-02)

T pfsArm
1 = (x=41221, 0=121)
1 calExp

= (x=412.29, 0=1.19)
— Residual*s
w Trace

T pfsArm
1 = (x=415.25, 0=121)
1 calExp

= (x=415.31, 0=1.17)

w—— Residual*5
= Trace

Y=1228 (dx=1.9e-02, do=-1.6e-02)

Y=1473 (dx=1.7e-02, do=-2.6e-02)

mm Residual*5
= Trace

E T pfsArm T pfsArm
1 = (x=421.84,0=1.19) 1 = (x=423.42,0=123)
1 calExp 1 calExp
= (x=421.86, 0=1.18)

= (x=423.44, 0=120)
mm Residual*5
== Trace

1 1
Y=2210 (dx=-2.4e-02, do=-1.1e-02) Y=2456 (dx=-3.1e-02, do=-1.1e-03)
. I pfsArm I pfsArm
1 = (x=426.49, 0=1.26) 1 = (x=427.05, 0=1.28)
1 e (cf‘:E:zps.M, 0=1.24) _ 1 [ (C;‘:E:2p7 02, 0=1.27)

1 m——Residual*5
== Trace

mmResidual*5
= Trace

-1 e Residual*5
== Trace

1
Y=3193 (dx=6.4e-05, do=-3.9e-03) Y=3439 (dx=-2.0e-02, do=-2.0e-02)
_ T pfsArm . T pfsArm
| = (x=426.90, 0=1.23) 1 = (x=426.32, 0=129)
1 = (cxa‘:E:zps.gu, 0=1.23) | — ff‘j(zpe 30, 0=1.27)

mm—Residual*5
= Trace

410 420 430 440

410 420 430 440

Y=736 (dx=5.7e-02, do=-2.5e-02)

pfsArm
| =™ (x=41779,0=119)
1 calExp

= (x=417.85, 0=1.16)
m— Residual*s
== Trace

1
Y=1719 (dx=3.4e-03, do=-1.5e-02)
- T
1 = fxfi‘m.es, 0=122)
1 calExp

= (x=424.68, 0=1.20)
w— Residual*5
= Trace

1
Y=2702 (dx=-2.7e-02, do=-8.6e-03)
T
1 = zsﬂzrg.n, 0=1.28)
. | — SI:EA;(ZPIZB, 0=127)

mm— Residual*5
w— Trace

1

Y=3684 (dx=-4.9e-02, do=-3.5€-02)
T

] 1 — r;iﬁrzms‘za,oﬂzm

calExp
= (x=425.23, 0=1.26)
mm Residual*5
= Trace

410 420 430 440

Y=982 (dx=2.8e-02, do=-4.0e-02)

pfsArm
1 = (x=420.05, 0=121)
1 calExp

= (x=420.07, 0=1.17)
m— Residual*5
== Trace

%
T ! T
Y=1965 (dx=-2.5€-02, do=7.3e-03)

T pfsArm
1 = (x=425.70, 0=1.22)
1 calExp

= (x=425.67, 0=1.23)

m—— Residual*5
= Trace

1

Y=2947 (dx=-3.8e-02, do=-1.2e-02)
T
1 = E):5=A4r2m7.30,0=1.28)
1 calExp

—(x=427.26, 0=127)
m—— Residual*5
= Trace

Y=3930 (dx=-5.7e-02, do=-3.3e-02)

T pfsArm
1 = (x=423.74, 0=1.25)

calExp
= (x=423.68, 0=1.21)
m—— Residual*5
= Trace

410 420 430
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Y=245 (dx=2.4e-01,

do=-3.0e-01)

f=1899, X=416.6

Y=491 (dx=-4.4e-02, do=-1.8e-01)

pfsArm
= (x=407.05, 0=2.08)

calExp
_ = 407: 29, 0=1.78)
w— Residual*s
w | Trace

= == Trace

| | --T----%
1

pfs.
= (x=410.06, 0=2.13)

calExp
_(x= 410 02, 0=1.95)

e Residual*s

{21228 (dx=6.3e-01, do=_5.0e-01)

Y=1473 (dx=4.3e- 01 do=-6.1e- 01)

Y=736 (dx=4.9e-01, do=-3.5e-01)

pfsArm T
| = (x=411.58, 0=2.18) 1
calExp l
_ = 412 06, 0=1.84)
m— Residual*s
== Trace
! L~
Y ]
o e e e - -

pfsArm I
= (x=415.60, 0=2.03)
calExp
— (x=416.24, 0=1.54)
e Residual*5
= Trace

calExp
| = (x=41829, 0=1.49)

[

pfsArm
= (x=417.86, 0=2.09)

= Residual*5

i Trace

£1;

Y=1719 (dx=1.1e-01, do=-2.6e-01)

pfsArm
= (x=418.65, 0=1.99)

calExp
— (x=418.77, 0=1.73)
= Residual*5

== Trace

44

- pfsArm

Y=2702 (dx=3.4e-01,

do=-3. 5e 01)

7| == Residual*5

pfsArm
= (x=422.09, 0=2.03)

calExp
= (x=422.43, 0=1.68)

== Trace

\

calExp
= (x=421.41, 0=1.66)
= Residual*5
w= Trace

Y=2210 (dx=3.5e- 01 do=-4.8e-01) Y=2456 (dx=-8.8e-02, do=1.8e-01)
T . T
— gﬂ%.aa 0=2.09) 1 — r:iﬁ;).gs,aﬂ 81) 1 I_
— calExp 1 — calExp 1
(x=421.21, 0=1.61) (x=420.86, 0=1.98)
w— Residual*5 I 7| m— Residual*s I
- Trace 1 - Trace
1 H q !
T |I 1 T 1 - 1 T
Y=3193 (dx=8.0e-01, do=-3.8e-01) Y=3439 (dx=-7.3e-02, do=-1.4e-01)
pfsArm T pfsArm
| = (x=420.61, 0=2.05) 1 = (x=420.84, 0=1.94)

calEx
-(x= 42076 0=1.80)

e Residual*s
w— | Trace

Y=3684 (dx=3.8e-01,

da—-4 6e-01)

pfsArm
= (x=419.98, 0=1.97)

T
calExp 1
m—(x=420.36, 0=1.51)
e Residual*5 I
= Trace

410 420

430

410

420

430

Y=982 (dx=1.9e-01, do=-1.6e-01)

pfsArm

= (x=413.87, 0=1.84)

calExp
- (x= 414 06, 0=1.68)

e Residual*5
== Trace

-

Y=1965 (dx 9.4e-

01, do=-7.7e- 01)

— (x:am.as, 0=2.14)

calExp
= (x=420.61, 0=1.37)
= Residual*5

= Trace

[

Y=2947 (dx=3.6e-01, do=-3.7e-01)

pfsArm
= (x=422.16, 0=2.05)

calExp

= (x=422.52, 0=1.68)
pd === Residual*5

= Trace

L]

oTT

E

Y=3930 (dx=2.1e

01, do=-3.5e-01)

pfsArm
— (x=417.67, 0=2.02)
calExp
= (x=417.88,0=1.67) =
= Residual*5
- Trace

e w e sl - —

7

410 420

430

410

420 430
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Y=245 (dx=1.0e-01, do=-2.3e-02)

f=1929, X=230.4

Y=491 (dx=1.2e-01, do=-3.4e-02)

= (x=219.05, 0=1.17)
mm Residual*5
== Trace

pfsArm pfsArm
1 = (x=218.94, 0=1.20) 1 — (x=222.47,0=123)
- 1 calExp T calExp

= (x=222.58, 0=1.20)
— Residual*s
== Trace

Y=1228 (dx=5.3e-02, do=-1.7e-02)

Y=1473 (dx=4.8e-02, do=-2.0e-02)

= (x=229.93, 0=1.19)
mmResidual*5
== Trace

T fsArm T pfsArm
1 = (x=229.88, 0=121) . 1 = (x=231.62, 0=1.24)
- 1 calExp 1 calExp

= (x=231.67, 0=122)
mm Residual*5
== Trace

Y=2210 (dx=-8.2e-03, do=2.1e-02)

Y=2456 (dx=3.3e-02, do=1.3e-02)

- pfsArm pfsArm
1 = (x=234.83, 0=124) 1 = (x=235.37,0=131)

1 calExp 1 calExp
m—(x=234.82, 0=1.26) m— (x=235.40, 0=1.32)

m——Residual*5
== Trace

m— Residual*5
w— Trace

e Residual*5
== Trace

1
Y=3193 (dx=-5.0e-02, do=-1.9e-02) Y=3439 (dx=-3.6e-03, do=-2.8e-02)
T pfsArm T pfsArm
1 = (x=234.75, 0=127) 1 = (x=233.79, 0=127)
T 1 = (cxa\:E;;“& 0=1.25) - 1 — ff‘:sz3p3 79, 0=1.24)

mm—Residual*5
= Trace

220 230 240 250

220 230 240

Y=736 (dx=9.6e-02, do=-3.1e-02)

T pfsArm
1 = (x=225.38, 0=125)
1 calExp

. m = (x=225.48, 0=122)

w—— Residual*5

Y=1719 (dx=5.1e-02, do=-5.3e-03)

I pfsArm
| = (x=232.96,0=121)
1 calExp

= (x=233.01, 0=121)
w— Residual*5
= Trace

1

Y=2702 (dx=1.3e-02, do=-2.3e-02)
T
1 = F:igrzms.51,o=1.30)
1 calExp

m—(x=235.52, 0=1.27)
m—— Residual*5
| Trace

Y=3684 (dx=-1.6e-02, do=-2.6e-02)

pfsArm
1 = (x=232.47, 0=131)

calExp
= (x=232.45, 0=128)

m—— Residual*5
w— Trace

220 230 240

Y=982 (dx=7.5e-02, do=-3.1e-02)

T pfsArm
| ™ (x=227.82,0=120)
1 calExp

— (x=227.89, 0=1.17)

m— Residual*5
== Trace

1
Y=1965 (dx=1.5e-02, do=1.0e-02)
T
1 = ?Ii"zrﬂ.u, 0=1.30)
] | — (C:LE;;ms,u:Lal;

m—— Residual*5

Y=2947 (dx=-1.4e-02, do=-8.8e-03)

I pfsArm
1 = (x=235.34,0=133)
I calEx|

= (x=235.32, 0=1.32)
m—— Residual*5

1
Y=3930 (dx=-7.9e-03, do=-2.7e-02)

pfsArm
1 = (x=230.50, 0=1.35)
| calExp
= (x=230.49, 0=1.32)

m— Residual*5

220 230 240



